
PHYSICS

BOOKS - PREMIERS PUBLISHERS

LAW OF MOTION

Evaluation Textbook Questions Answers Multiple

Choose Questions

1. When a car takes a sudden left turn in the

curved road passendgers are pushed towards

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_1zbo5LqyAvmF


the right due to

A. inertia of direction

B. inertia of motion

C. inertia of rest

D. absence of inertia

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_1zbo5LqyAvmF


2. An object of mass m held against a vertical

wall by applying horizonatal force F as the

minimum of the force is 

A. less then mg

https://dl.doubtnut.com/l/_cKnv4zViqLYV


B. equal to mg

C. greater than mg

D. cannot determine

Answer: c

Watch Video Solution

3. A vehicle is moving along the positive x

direction if sudden brake is applied then

https://dl.doubtnut.com/l/_cKnv4zViqLYV
https://dl.doubtnut.com/l/_IvP8dSQv6yXq


A. frictional force acting on the vehicle is

along negative x direction

B. frictional force acting on the vehicle is

along positive x direction

C. no frictional force acts on the vehicle

D. frictional force acts in downward

direction

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_IvP8dSQv6yXq
https://dl.doubtnut.com/l/_uSkp1JWHyqdN


4. A book is at rest on the table which exerts a

normal force on the book if this force is

considered as reaction force what is the action

force according to newton third law ?

A. gavitational force exerted by earth on

the book

B. gravitonal force exerted by the book on

earth

C. normal force exerted by the book on the

table

https://dl.doubtnut.com/l/_uSkp1JWHyqdN


D. none of the above

Answer: c

Watch Video Solution

5. Two masses  and  are experiencing

the same force where  the ratio of

their acceleration  is

A. 1

B. less than 1

M1 m2

m1 < m2

a1

a2

https://dl.doubtnut.com/l/_uSkp1JWHyqdN
https://dl.doubtnut.com/l/_iINBZri5ahMf


C. greater than 1

D. all the three cases

Answer: c

Watch Video Solution

6. Choose appropriate free body diagram for

the particle experiencing net accleration along

negative y direction

A. 

https://dl.doubtnut.com/l/_iINBZri5ahMf
https://dl.doubtnut.com/l/_1zuP7cN7TxRg


B. 

C. 

D. 

Answer: c

View Text Solution

7. A particle of mass m sliding on the smooth

double inclided plane will experience 

https://dl.doubtnut.com/l/_1zuP7cN7TxRg
https://dl.doubtnut.com/l/_FB2I8Zf2S7cl


A. greater acceleration along the path ab

B. greater acceleration along the path ac

C. same acceleraton in both the paths

D. no acceleration in both paths

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_FB2I8Zf2S7cl


8. Two blocks of masses m and 2m are placed

on a smooth horizontal surface as shown in

the first case only a force  is applied from

the left later only a force  is applied from

the right if the force acting at the interface of

the two blocks in the two case is same then

 is 


A. 

B. 

F1

F2

F1 : F2

1: 1

1: 2

https://dl.doubtnut.com/l/_FB2I8Zf2S7cl
https://dl.doubtnut.com/l/_fNtOvrLDdQcn


C. 

D. 

Answer: c

Watch Video Solution

2: 1

1: 3

9. A particle is moving in a circle with a

constant speed. Its moving is

A. always zero

B. need not be zero

https://dl.doubtnut.com/l/_fNtOvrLDdQcn
https://dl.doubtnut.com/l/_PesbJf7brpYH


C. always non zero

D. cannot be concluded

Answer: b

Watch Video Solution

10. An object of mass m begins to move on the

plane inclined at an angle  the coefficient of

static friction of inclined surface is  the

maximum static friction experienced by the

mass is

θ

μs

https://dl.doubtnut.com/l/_PesbJf7brpYH
https://dl.doubtnut.com/l/_2VhvRNecIOih


A. mg

B.  mg

C.  ms sin 

D.  mg cos 

Answer: d

Watch Video Solution

μs

μs θ

μs θ

11. When the object is moving at constant

velocity on the rough surface

https://dl.doubtnut.com/l/_2VhvRNecIOih
https://dl.doubtnut.com/l/_LCUCfvivBlMs


A. net force on the object is zero

B. no force acts on the object

C. only external force acts on the object

D. only kinetic friction acts on the object

Answer: a

Watch Video Solution

12. When the object is at rest on the inclined

rough surface

https://dl.doubtnut.com/l/_LCUCfvivBlMs
https://dl.doubtnut.com/l/_FEg15A6GPTgw


A. static and kinetic frictions acting on the

object is zero

B. static friction is zero kinetic friction is

not zero

C. static friction is not zero and kinetic

friction is zero

D. static and kinetic frictions are not zero

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_FEg15A6GPTgw
https://dl.doubtnut.com/l/_LAx66OKyYSIs


13. The centrifugal force appears to exist

A. only in inertial frames

B. only in rotating frames

C. in any accelerated frame

D. both in inrtial and non inertial frames

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_LAx66OKyYSIs


14. Choose the correct statement from the

following

A. centrifugal and centripetal forces are

action reaction pairs

B. centripetal forces in a natureal force

C. centrifugal force arises from

gravitational force

D. centripetal force acts towards the centre

and centrifugal force appears to act

https://dl.doubtnut.com/l/_HjKuZpKNfFcW


away from the centre in a circular

motion

Answer: d

Watch Video Solution

15. If a person moving from pole to equator of

the earth then the centrifugal force acting on

him is

A. increases

https://dl.doubtnut.com/l/_HjKuZpKNfFcW
https://dl.doubtnut.com/l/_CwMlgkenV0lQ


B. decreases

C. remains the same

D. increases and then decreases

Answer: a

Watch Video Solution

16. When a car takes a sudden left turn in the

curved road passendgers are pushed towards

the right due to

https://dl.doubtnut.com/l/_CwMlgkenV0lQ
https://dl.doubtnut.com/l/_W7E9i5n3i7RD


A. inertia of direction

B. inertia of motion

C. inertia of rest

D. absence of inertia

Answer: a

Watch Video Solution

17. An object of mass m held against a vertical

wall by applying horizonatal force F as the

https://dl.doubtnut.com/l/_W7E9i5n3i7RD
https://dl.doubtnut.com/l/_qqbNRILOh0RL


minimum of the force is 

A. less then mg

B. equal to mg

C. greater than mg

https://dl.doubtnut.com/l/_qqbNRILOh0RL


D. cannot determine

Answer: c

Watch Video Solution

18. A vehicle is moving along the positive x

direction if sudden brake is applied then

A. frictional force acting on the vehicle is

along negative x direction

https://dl.doubtnut.com/l/_qqbNRILOh0RL
https://dl.doubtnut.com/l/_4LCU2bpDsyEZ


B. frictional force acting on the vehicle is

along positive x direction

C. no frictional force acts on the vehicle

D. frictional force acts in downward

direction

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_4LCU2bpDsyEZ


19. A book is at rest on the table which exerts a

normal force on the book if this force is

considered as reaction force what is the action

force according to newton third law ?

A. gavitational force exerted by earth on

the book

B. gravitonal force exerted by the book on

earth

C. normal force exerted by the book on the

table

https://dl.doubtnut.com/l/_N4G358f0fyG1


D. none of the above

Answer: c

Watch Video Solution

20. Two masses  and  are experiencing

the same force where  the ratio of

their acceleration  is

A. 1

B. less than 1

M1 m2

m1 < m2

a1

a2

https://dl.doubtnut.com/l/_N4G358f0fyG1
https://dl.doubtnut.com/l/_8fenWLzqRytb


C. greater than 1

D. all the three cases

Answer: c

Watch Video Solution

21. Choose appropriate free body diagram for

the particle experiencing net accleration along

negative y direction

A. 

https://dl.doubtnut.com/l/_8fenWLzqRytb
https://dl.doubtnut.com/l/_BC3qU72gKb4e


B. 

C. 

D. 

Answer: c

View Text Solution

22. A particle of mass m sliding on the smooth

double inclided plane will experience 

https://dl.doubtnut.com/l/_BC3qU72gKb4e
https://dl.doubtnut.com/l/_tD7kqPeShFH2


A. greater acceleration along the path ab

B. greater acceleration along the path ac

C. same acceleraton in both the paths

D. no acceleration in both paths

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_tD7kqPeShFH2


23. Two blocks of masses m and 2m are placed

on a smooth horizontal surface as shown in

the first case only a force  is applied from

the left later only a force  is applied from

the right if the force acting at the interface of

the two blocks in the two case is same then

 is 


A. 

B. 

F1

F2

F1 : F2

1: 1

1: 2

https://dl.doubtnut.com/l/_tD7kqPeShFH2
https://dl.doubtnut.com/l/_30VcSDPxB1tB


C. 

D. 

Answer: c

Watch Video Solution

2: 1

1: 3

24. Force acting on the particle moving with

constant speed is

A. always zero

B. need not be zero

https://dl.doubtnut.com/l/_30VcSDPxB1tB
https://dl.doubtnut.com/l/_bgCpC1sSQ0zr


C. always non zero

D. cannot be concluded

Answer: b

View Text Solution

25. An object of mass m begins to move on the

plane inclined at an angle  the coefficient of

static friction of inclined surface is  the

maximum static friction experienced by the

mass is

θ

μs

https://dl.doubtnut.com/l/_bgCpC1sSQ0zr
https://dl.doubtnut.com/l/_t5XkpE5PxUZT


A. mg

B.  mg

C.  ms sin 

D.  mg cos 

Answer: d

Watch Video Solution

μs

μs θ

μs θ

26. When the object is moving at constant

velocity on the rough surface

https://dl.doubtnut.com/l/_t5XkpE5PxUZT
https://dl.doubtnut.com/l/_pqoXzDw3wDXD


A. net force on the object is zero

B. no force acts on the object

C. only external force acts on the object

D. only kinetic friction acts on the object

Answer: a

Watch Video Solution

27. When the object is at rest on the inclined

rough surface

https://dl.doubtnut.com/l/_pqoXzDw3wDXD
https://dl.doubtnut.com/l/_fP6ltqsBUPDW


A. static and kinetic frictions acting on the

object is zero

B. static friction is zero kinetic friction is

not zero

C. static friction is not zero and kinetic

friction is zero

D. static and kinetic frictions are not zero

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_fP6ltqsBUPDW
https://dl.doubtnut.com/l/_7X1VgZ8VJGrw


28. The centrifugal force appears to exist

A. only in inertial frames

B. only in rotating frames

C. in any accelerated frame

D. both in inrtial and non inertial frames

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_7X1VgZ8VJGrw


29. Choose the correct statement from the

following

A. centrifugal and centripetal forces are

action reaction pairs

B. centripetal forces in a natureal force

C. centrifugal force arises from

gravitational force

D. centripetal force acts towards the centre

and centrifugal force appears to act

https://dl.doubtnut.com/l/_A9S7JurkWMbc


away from the centre in a circular

motion

Answer: d

Watch Video Solution

30. If a person moving from pole to equator of

the earth then the centrifugal force acting on

him is

A. increases

https://dl.doubtnut.com/l/_A9S7JurkWMbc
https://dl.doubtnut.com/l/_xaQXvWhp5QqN


Evaluation Textbook Questions Answers Ii Short

Answer Questions

B. decreases

C. remains the same

D. increases and then decreases

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_xaQXvWhp5QqN


1. Explain the concept of inertia write two

examples each inertia of motion inertia of rest

and inertia of direction

Watch Video Solution

2. State newton's second law

Watch Video Solution

3. Define one newton

https://dl.doubtnut.com/l/_oQ8BmlpxZ7xE
https://dl.doubtnut.com/l/_XB0iO8PkNuap
https://dl.doubtnut.com/l/_Ca7zWDbQPD7u


Watch Video Solution

4. Show that impulse is the change of

momentum

Watch Video Solution

5. Using free body diagram show that it is easy

to pull an object than to push it

Watch Video Solution

https://dl.doubtnut.com/l/_Ca7zWDbQPD7u
https://dl.doubtnut.com/l/_Ja7aSQwC4u0Y
https://dl.doubtnut.com/l/_UJnNG4f1FVbz
https://dl.doubtnut.com/l/_Kv7vDvzhFVxf


6. Explain various types of friction suggest a

few methods to reduce friction

Watch Video Solution

7. Pseudo Force

Watch Video Solution

8. State the empirical laws of static and kinetic

friction

https://dl.doubtnut.com/l/_Kv7vDvzhFVxf
https://dl.doubtnut.com/l/_Fk8IUoHuQZAv
https://dl.doubtnut.com/l/_OkNfiZ66f8Rs


Watch Video Solution

9. State newton's third law

Watch Video Solution

10. What are interial frames ?

Watch Video Solution

https://dl.doubtnut.com/l/_OkNfiZ66f8Rs
https://dl.doubtnut.com/l/_nnB4zpIdZDNO
https://dl.doubtnut.com/l/_KQwqjbXnOBP3


11. Under what condion will a car skid on a

leveled circular road ?

Watch Video Solution

12. Explain the concept of inertia write two

examples each inertia of motion inertia of rest

and inertia of direction

Watch Video Solution

https://dl.doubtnut.com/l/_rMfMopSiJ11o
https://dl.doubtnut.com/l/_62cWyyazsPOC


13. State Newton's second law .

Watch Video Solution

14. Define one newton

Watch Video Solution

15. Show that impulse is the change of

momentum

Watch Video Solution

https://dl.doubtnut.com/l/_VfsEbA586e5X
https://dl.doubtnut.com/l/_zfXY0ORD7km2
https://dl.doubtnut.com/l/_phGUKwCfTj4w


16. Using free body diagram show that it is

easy to pull an object than to push it

Watch Video Solution

17. Explain various types of friction suggest a

few methods to reduce friction

Watch Video Solution

https://dl.doubtnut.com/l/_phGUKwCfTj4w
https://dl.doubtnut.com/l/_xGWMDQCDEto5
https://dl.doubtnut.com/l/_a6WIuQB2U8n9


18. pseudo force

Watch Video Solution

19. State the empirical laws of static and

kinetic friction

Watch Video Solution

20. State newton's third law

Watch Video Solution

https://dl.doubtnut.com/l/_3S5Q1tholgLC
https://dl.doubtnut.com/l/_hJk8XKBs0NgY
https://dl.doubtnut.com/l/_4gLjXzUhjmLV


Evaluation Textbook Questions Answers Iii Long

Answer Questions

21. What are interial frames ?

Watch Video Solution

22. Under what condion will a car skid on a

leveled circular road ?

Watch Video Solution

https://dl.doubtnut.com/l/_4gLjXzUhjmLV
https://dl.doubtnut.com/l/_E5PbDBusUR5x
https://dl.doubtnut.com/l/_r941ZCBLWLl7


1. Prove the law of conservation of linear

momentum use it to find the recoil velocity of

a gun when a bullet is fired from it

Watch Video Solution

2. State lami's theorem.

Watch Video Solution

https://dl.doubtnut.com/l/_CUTmkPUYKmOr
https://dl.doubtnut.com/l/_AF9OISeu4tb4


3. Expalin the motion of blocks connected by a

string 

(i) verticla motion 

(ii) Horizontal motion

View Text Solution

4. Briefly explain the origin of friction show

that in an inclined plane angle of friction is

equal to angle of repose

Watch Video Solution

https://dl.doubtnut.com/l/_qWZcf3gLUfrU
https://dl.doubtnut.com/l/_zbvMo8jzt2Hm


5. State newton three laws and discus their

significance

Watch Video Solution

6. Explain the similarties and differences of

centripetal and centrifugal forces

Watch Video Solution

https://dl.doubtnut.com/l/_zbvMo8jzt2Hm
https://dl.doubtnut.com/l/_7F8mrYqmlopb
https://dl.doubtnut.com/l/_5dIpNta1DWz3


7. Briefly explain centrifugal force with suitable

examples

Watch Video Solution

8. What is meant by rolling friction ?

Watch Video Solution

9. Describe the method of measuring angle of

repose

https://dl.doubtnut.com/l/_FwME1GaCixHz
https://dl.doubtnut.com/l/_0y7JP6HtdUes
https://dl.doubtnut.com/l/_LGaVZwdcdcbH


Watch Video Solution

10. What is the need of banking a circular raod

Watch Video Solution

11. Calculate the centripetal acceleration of

moon towards the earth

Watch Video Solution

https://dl.doubtnut.com/l/_LGaVZwdcdcbH
https://dl.doubtnut.com/l/_RT2gWV1KXNQs
https://dl.doubtnut.com/l/_QbRUqPf56HIM


12. Prove the law of conservation of linear

momentum use it to find the recoil velocity of

a gun when a bullet is fired from it

Watch Video Solution

13. What are concurrent forces.

View Text Solution

https://dl.doubtnut.com/l/_NyxixHLMXbrx
https://dl.doubtnut.com/l/_cNgPZrO8LmFX


14. Explain the motion of blocks connected by

a string in (i) vertical motion (ii) horizontal

motion .

Watch Video Solution

15. Briefly explain the origin of friction show

that in an inclined plane angle of friction is

equal to angle of repose

Watch Video Solution

https://dl.doubtnut.com/l/_A6Y3YiGSoRLk
https://dl.doubtnut.com/l/_MtNBVIlOy0QV
https://dl.doubtnut.com/l/_yHKdTwyIz0Mg


16. State newton three laws and discus their

significance

Watch Video Solution

17. Explain the similarties and differences of

centripetal and centrifugal forces

Watch Video Solution

https://dl.doubtnut.com/l/_yHKdTwyIz0Mg
https://dl.doubtnut.com/l/_4guUtu4k1Vvh


18. Briefly explain centrifugal force with

suitable examples

Watch Video Solution

19. What is meant by rolling friction ?

Watch Video Solution

20. Describe the method of measuring angle

of repose

https://dl.doubtnut.com/l/_K0tA7mCp83Nq
https://dl.doubtnut.com/l/_IV1xKT31g96Q
https://dl.doubtnut.com/l/_Q9BIfiWTu7fL


Watch Video Solution

21. Explain the need for modulation.

Watch Video Solution

22. Calculate the centripetal acceleration of

moon towards the earth

Watch Video Solution

https://dl.doubtnut.com/l/_Q9BIfiWTu7fL
https://dl.doubtnut.com/l/_dgSps3DvQAhA
https://dl.doubtnut.com/l/_4JoIAdikb2jn


Evaluation Textbook Questions Answers Iv

Conceptual Question

1. Why is not possible to push a car from

inside

Watch Video Solution

2. There is a limit beyong which the polishibng

of a surface increases frictional resistance

rather than decreasing it why

Watch Video Solution

https://dl.doubtnut.com/l/_B9FAvpF8k6lg
https://dl.doubtnut.com/l/_2F3dfHQ0hLHQ


3. Can a single isoloated force exist in nature

explain your answer

Watch Video Solution

4. What does a Pacemaker do ?

Watch Video Solution

https://dl.doubtnut.com/l/_2F3dfHQ0hLHQ
https://dl.doubtnut.com/l/_BgKwGP9WQrzb
https://dl.doubtnut.com/l/_VRubZrk2jrcD


5. When walking on ice one should take short

steps why ?

Watch Video Solution

6. When a person walks on surface the

frictional force exerted by the surface on the

person is opposite to the direction of motion

true or false

Watch Video Solution

https://dl.doubtnut.com/l/_hA8SJHglAUqo
https://dl.doubtnut.com/l/_tPaQSALcDCB9
https://dl.doubtnut.com/l/_NL1PbM2iqfHq


7. Can the coefficent of friction be more than

one

Watch Video Solution

8. Can we predict the direction of motion of a

body from the direction of force on it

Watch Video Solution

https://dl.doubtnut.com/l/_NL1PbM2iqfHq
https://dl.doubtnut.com/l/_zSyWFxaREjng


9. The angular momentum of a system of

particles is conserved

Watch Video Solution

10. Why is not possible to push a car from

inside

Watch Video Solution

https://dl.doubtnut.com/l/_NutO8GcigZfq
https://dl.doubtnut.com/l/_FqBwjOX934x6


11. There is a limit beyong which the

polishibng of a surface increases frictional

resistance rather than decreasing it why

Watch Video Solution

12. Can a single isoloated force exist in nature

explain your answer

Watch Video Solution

https://dl.doubtnut.com/l/_TdWJg4mFbaNu
https://dl.doubtnut.com/l/_jEX32TnQEiRx


13. Why do liquids diffuse very slowly in

comparison to gases?

Watch Video Solution

14. When walking on ice one should take short

steps why ?

Watch Video Solution

https://dl.doubtnut.com/l/_hpojxlqU8Or5
https://dl.doubtnut.com/l/_rQLcuM8bqQcO


15. When a person walks on surface the

frictional force exerted by the surface on the

person is opposite to the direction of motion

true or false

Watch Video Solution

16. Can the coefficent of friction be more than

one

Watch Video Solution

https://dl.doubtnut.com/l/_cEbHUGgr6GKH
https://dl.doubtnut.com/l/_YUUWC6e1XIqO
https://dl.doubtnut.com/l/_aNs7FFtjTUKo


Evaluation Textbook Questions Answers V

Numerical Problems

17. Can we predict the direction of motion of a

body from the direction of force on it

Watch Video Solution

18. The momentum of a system of particles is

always conserved true or false

Watch Video Solution

https://dl.doubtnut.com/l/_aNs7FFtjTUKo
https://dl.doubtnut.com/l/_Ts5vVnIeGZ8h


1. A force of 50 N act on the object of mass 20

kg calculate the acceleration of the object in x

and y direction

Watch Video Solution

2. A spider of mass 50 g is hanging on a string

of a cob web as what is the tension in the

string

Watch Video Solution

https://dl.doubtnut.com/l/_7dhv2eVHHtIN
https://dl.doubtnut.com/l/_8dtbhmmdg9jx
https://dl.doubtnut.com/l/_xSrjtcLsf9iO


3. What is the reading shown in spring balance

Watch Video Solution

https://dl.doubtnut.com/l/_xSrjtcLsf9iO


4. The physics books are stacked on each other

in the sequence +1 and 2, +2 volumes 1 and 2

on a table identify the forces acting on each

book and draw the free body diagram (b)

Identify the forces exerted by each book on

the other

Watch Video Solution

5. A bob attached to the string oscillates back

and forth resolve the forces acting on the bob

https://dl.doubtnut.com/l/_fvRTJGm3q95Q
https://dl.doubtnut.com/l/_KQ2Sg6Hz9qnh


in to compents what is the acceleration

experience by the bob at an angle 

Watch Video Solution

θ

6. Two masses  and  are connected with

a string passing over a frictionless pulley fixed

at the corner of the table as shown in the the

coefficent of static friction of mass  with

the table is  calculate the minium mass 

that may be placed on  to prevent it from

sliding check if

m1 m2

m1

μs m3

m1

https://dl.doubtnut.com/l/_KQ2Sg6Hz9qnh
https://dl.doubtnut.com/l/_KNiNrJn0TrFe


 and 

 

Watch Video Solution

m1 = 15kgm2 = 10kg, mm3 = 25

μs = 0.2

7. Calculate the acceleration of the bicycle of

mass 25 kg as 

https://dl.doubtnut.com/l/_KNiNrJn0TrFe
https://dl.doubtnut.com/l/_1U4qEhXYbdNB


Watch Video Solution

https://dl.doubtnut.com/l/_1U4qEhXYbdNB


8. In the given diagram  is ………… 

Watch Video Solution

θ

9. A football player kicks a 0.8 kg ball and

imparts it a velocity  the contact12ms − 1

https://dl.doubtnut.com/l/_i0YqORlG1efN
https://dl.doubtnut.com/l/_6e6uIR3HgPzc


between the foot and ball is only for one

sixtieth of a second find the average kicking

force

Watch Video Solution

10. A stone of mass 2kg is attached to a string

of length 1 meter the sting can withstand

maximum tension 200 N what is the m

maximum speed that stone can have during

the whirling motion ?

Watch Video Solution

https://dl.doubtnut.com/l/_6e6uIR3HgPzc
https://dl.doubtnut.com/l/_RMV9fZ1M2T2G


11. Imagine that the gravitational force

between earth and moon is provided by an

invisible string that exist between the moon

and earth what is the tension that exists in

this invisible string due to earth centripetal

force 

(Mass of the moon =  distance7.34 × 1022kg

https://dl.doubtnut.com/l/_RMV9fZ1M2T2G
https://dl.doubtnut.com/l/_d0fHPXO8QiGS


between moon and earth = m) 


Watch Video Solution

3.84 × 108

12. Two bodies of masses 15kg and 10 kg are

connected with light string kept on a smooth

https://dl.doubtnut.com/l/_d0fHPXO8QiGS
https://dl.doubtnut.com/l/_5lwyus011Ih3


surface a horizontal force F=500 N is applied

to a 15 kg as calculate the tension acting in

the sting 

Watch Video Solution

13. People often say for every action there is an

equuivalent opposite reaction here they

meant action of a human is it correct to apply

newton third law to human action ? What is

https://dl.doubtnut.com/l/_5lwyus011Ih3
https://dl.doubtnut.com/l/_JpzDjJ6Iab5c


meant by action in newton third law given

your argument based on newton 's laws

Watch Video Solution

14. A car takes a turn with velocity 50  on

the circular road of radius of curvature 10 m.

Calculate the centrifugal force experienced by

a person of mass 60 kg inside the car?

Watch Video Solution

ms − 1

https://dl.doubtnut.com/l/_JpzDjJ6Iab5c
https://dl.doubtnut.com/l/_CBC7bhsP7Uqw


15. A long stick rests on the surface a person

standing 10 m away the stick with what

minimum speed an object of masss 0.5 kg

should he throuwn so that it hits the stick

(Assume the coefficient of kinetic friction is 0.7

)

Watch Video Solution

16. A force of 50 N act on the object of mass 20

kg calculate the acceleration of the object in x

https://dl.doubtnut.com/l/_mpdLpXUbsFgd
https://dl.doubtnut.com/l/_gLb4BsEBPWVe


and y direction

Watch Video Solution

17. A spider of mass 50 g is hanging on a string

of a cob web as what is the tension in the

string

Watch Video Solution

https://dl.doubtnut.com/l/_gLb4BsEBPWVe
https://dl.doubtnut.com/l/_XImMKVQ6eH3T


18. What is the reading shown in spring

balance 

Watch Video Solution

https://dl.doubtnut.com/l/_qO8MDd0KchSx


19. The physics books are stacked on each

other in the sequence +1 and 2, +2 volumes 1

and 2 on a table identify the forces acting on

each book and draw the free body diagram (b)

Identify the forces exerted by each book on

the other

Watch Video Solution

20. A bob attached to the string oscillates

back and forth resolve the forces acting on the

https://dl.doubtnut.com/l/_1OcJM7Dw1wO7
https://dl.doubtnut.com/l/_sAsWsVHobtyv


bob in to compents what is the acceleration

experience by the bob at an angle 

Watch Video Solution

θ

21. Two masses  and  are connected with

a string passing over a frictionless pulley fixed

at the corner of the table as shown in the the

coefficent of static friction of mass  with

the table is  calculate the minium mass 

that may be placed on  to prevent it from

sliding check if

m1 m2

m1

μs m3

m1

https://dl.doubtnut.com/l/_sAsWsVHobtyv
https://dl.doubtnut.com/l/_YEdBEvfrDy21


 and 

 

Watch Video Solution

m1 = 15kgm2 = 10kg, mm3 = 25

μs = 0.2

22. Calculate the acceleration of the bicycle of

mass 25 kg as 

https://dl.doubtnut.com/l/_YEdBEvfrDy21
https://dl.doubtnut.com/l/_ZUMzfawTJgoK


Watch Video Solution

23. null

Watch Video Solution

https://dl.doubtnut.com/l/_ZUMzfawTJgoK
https://dl.doubtnut.com/l/_6PNnXjdmlXYl
https://dl.doubtnut.com/l/_nLg6S0oqXzeo


24. A football player kicks a 0.8 kg ball and

imparts it a velocity  the contact

between the foot and ball is only for one

sixtieth of a second find the average kicking

force

Watch Video Solution

12ms − 1

25. A stone of mass 2kg is attached to a string

of length 1 meter the sting can withstand

maximum tension 200 N what is the m

https://dl.doubtnut.com/l/_nLg6S0oqXzeo
https://dl.doubtnut.com/l/_gBGgLb3GvwhH


maximum speed that stone can have during

the whirling motion ?

Watch Video Solution

26. Imagine that the gravitational force

between earth and moon is provided by an

invisible string that exist between the moon

and earth what is the tension that exists in

this invisible string due to earth centripetal

force 

(Mass of the moon =  distance7.34 × 1022kg

https://dl.doubtnut.com/l/_gBGgLb3GvwhH
https://dl.doubtnut.com/l/_WgalZ7Py11Lu


between moon and earth = m) 


Watch Video Solution

3.84 × 108

27. Two bodies of masses 15kg and 10 kg are

connected with light string kept on a smooth

https://dl.doubtnut.com/l/_WgalZ7Py11Lu
https://dl.doubtnut.com/l/_mPIS5Aaq9gpY


surface a horizontal force F=500 N is applied

to a 15 kg as calculate the tension acting in

the sting 

Watch Video Solution

28. People often say for every action there is

an equuivalent opposite reaction here they

meant action of a human is it correct to apply

newton third law to human action ? What is

https://dl.doubtnut.com/l/_mPIS5Aaq9gpY
https://dl.doubtnut.com/l/_X06j5aIDTOjY


meant by action in newton third law given

your argument based on newton 's laws

Watch Video Solution

29. A car takes a turn with velocity 50 

on the circular road of radius of curvature 10

m. Calculate the centrifugal force experienced

by a person of mass 60 kg inside the car?

Watch Video Solution

ms − 1

https://dl.doubtnut.com/l/_X06j5aIDTOjY
https://dl.doubtnut.com/l/_DqUw6Nufl8Bc


Other Important Questions Answers Multiple

Choice Questions

30. A long stick rests on the surface a person

standing 10 m away the stick with what

minimum speed an object of masss 0.5 kg

should he throuwn so that it hits the stick

(Assume the coefficient of kinetic friction is 0.7

)

Watch Video Solution

https://dl.doubtnut.com/l/_sjPe0xofc7WZ


1. A man getting down a runnning bus falls

forward

A. due to inertia of rest road is left behing

and man reaches forward

B. due to inertia of motion upper part of

body continue to be in motion in

forward direction while feet come to rest

as soon as they touch the road

C. as he leans forward as a matter of habit

https://dl.doubtnut.com/l/_aT40ZpV74jKC


D. due to the combined effect ofall the

three factors states in (a),(b)and (c )

Answer: b

Watch Video Solution

2. Choose the correct statement of the

following.

A. unable to change by itself the state of

rest

https://dl.doubtnut.com/l/_aT40ZpV74jKC
https://dl.doubtnut.com/l/_LVRgqh1krLsc


B. unable to change by itself the state of

uniform motion

C. unable to change by itself the direction

of motion

D. unable to change by itself the state of

rest and of uniform linear motion

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_LVRgqh1krLsc


3. Physical independence of force is a

consequence of

A. third law of motion

B. second law of motion

C. first law of motion

D. all the above

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_Xesbm5JJv1KO
https://dl.doubtnut.com/l/_CcT3JCVNVCgY


4. Select the correct statement for the given

situation

A. rider is taken bqack

B. rider is suddenly afraid of falling

C. inertia of rest keeps the upper part of

body at rest wheras lower part of the

body moves forward with the horse

D. none of these

Answer: c

View Text Solution

https://dl.doubtnut.com/l/_CcT3JCVNVCgY


5. Newton 's first law of motion describes the

following

A. energy

B. work

C. inertia

D. moment of inertia

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_CcT3JCVNVCgY
https://dl.doubtnut.com/l/_MYuepTyeNfZL


6. Which of the following is not an illustration

of newton 's third law

A. flight of a jet plane

B. a cricket player lowering his hands while

catching a cricket ball

C. walking on floor

D. rebouncing of a rubber plane

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_MYuepTyeNfZL
https://dl.doubtnut.com/l/_oBhQ38uVbjmS


7. Newton 's second law gives the measures of

A. acceleartion

B. force

C. momentum

D. angular momentum

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_oBhQ38uVbjmS
https://dl.doubtnut.com/l/_k1KEgSgWx1Kh
https://dl.doubtnut.com/l/_dRCGq5nxTvzz


8. Select the odd man out from the following

laws

A. newton first law of mtion

B. newton 's third law of motion

C. newton 's law of gravitation

D. newton 's second law of motion

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_dRCGq5nxTvzz


9. Swimming is possible on account of

A. first law of mtion

B. second law of mtion

C. third law of mtion

D. newton 's law of gravition

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_x6ZR5j3I64kW


10. Select the correct reason for the uplift of a

jet plane A jet plane moves up in air because

A. the gravity does not act on bodies

moving with high speeds

B. the thrust of the jet compensates for

the force of gravity

C. the flow of air around the wings causes

an upward force4 whcihc compensates

for the force of gravity

https://dl.doubtnut.com/l/_IkmCjQXrKgAV


D. the weight of air whose volume is equal

to the volume of the plane is more than

the weight of the plane

Answer: b

Watch Video Solution

11. Select the correct cause for the given

situation when a horse pulls a wagon the

force that causes the horse to move forward is

the force

https://dl.doubtnut.com/l/_IkmCjQXrKgAV
https://dl.doubtnut.com/l/_f7TVRRyZvER8


A. the ground exerts on him

B. he exerts on the ground

C. the wagon exerts on him

D. he exerts on the wagon

Answer: b

Watch Video Solution

12. Assertion : No force is required to move a

body uniformly along a straight line . 

Reason : Because F=ma=m(0)=0.

https://dl.doubtnut.com/l/_f7TVRRyZvER8
https://dl.doubtnut.com/l/_KfEvN31uDlfH


A. an object moving in straight line with

constant velocity

B. an object moving in circular motion

C. an object moving with constant

acceleration

D. an object moving in elliptical path

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_KfEvN31uDlfH


13. A book is lying on the table what is the

angle between the action of the book on the

table and the reaction of the table on the

book

A. 

B. 

C. 

D. 

Answer: d

View Text Solution

0∘

45∘

90∘

180∘

https://dl.doubtnut.com/l/_VdOQdQotCvoV


View Text Solution

14. Which one of the following is not a force

A. impulse

B. tension

C. thrust

D. weight

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_VdOQdQotCvoV
https://dl.doubtnut.com/l/_mpPr9QqIt9hE
https://dl.doubtnut.com/l/_jawYJPeNROcs


15. Match the following laws or theorem given

in column 1 and the facts given in column 

A. 1-(i),2(iii),3-(ii),4-(v)

B. 1-(vi),-(iv),3-(i),4-(ii)

C. 1-(iv),2-(iii),3-(v),4-(i)

https://dl.doubtnut.com/l/_jawYJPeNROcs


D. 1-(vi),2-(i),3-(v),47-(vi)

Answer: b

Watch Video Solution

16. Which concept was given by newton 's first

law of motion ?

A. force

B. weight

C. work

https://dl.doubtnut.com/l/_jawYJPeNROcs
https://dl.doubtnut.com/l/_wLs4AvCTmfNK


D. inertia

Answer: d

Watch Video Solution

17. Which of the following laws gives a method

of measuring force ?

A. newton 's first of motion

B. newton 's second law of mtion

C. newton 's third law of motion

https://dl.doubtnut.com/l/_wLs4AvCTmfNK
https://dl.doubtnut.com/l/_rmZs7Yj8iQy7


D. none

Answer: b

Watch Video Solution

18. The law of conservation of momentum can

be derived from

A. newton 's first law of motion

B. newton 's second law of motion

C. newton 's third law of mtion

https://dl.doubtnut.com/l/_rmZs7Yj8iQy7
https://dl.doubtnut.com/l/_ZTWy799x2drs


D. all of these laws

Answer: c

Watch Video Solution

19. While walking the vertical component of

reactive force balances our

A. force

B. mass

C. weight

https://dl.doubtnut.com/l/_ZTWy799x2drs
https://dl.doubtnut.com/l/_WoNoda1YgNfH


D. impulse

Answer: c

View Text Solution

20. Which of the following forces tends to

stop the moving object

A. frictional force acting on the vehicle is

along negative x direction

B. magnetic force

https://dl.doubtnut.com/l/_WoNoda1YgNfH
https://dl.doubtnut.com/l/_Flun5tVMqte8


C. gravitational force

D. electric force

Answer: a

Watch Video Solution

21. In the following situatin select the correct

pair of the following pairs first law of newton

deals with the

A. concept of inertia and momentum

https://dl.doubtnut.com/l/_Flun5tVMqte8
https://dl.doubtnut.com/l/_4gQbk158NY6g


B. definition of force and work

C. concept of momentum and torque

D. concept of iunertia and definition of

force

Answer: d

Watch Video Solution

22. Second law of newton gives the definition

of force

https://dl.doubtnut.com/l/_4gQbk158NY6g
https://dl.doubtnut.com/l/_neJq319UrjUA


A. fundamental

B. quantiative

C. dimensional

D. both b and c

Answer: d

Watch Video Solution

23. Third law of newton explains the concept

of

https://dl.doubtnut.com/l/_neJq319UrjUA
https://dl.doubtnut.com/l/_hkuo7PjdD5fR


A. inertia of direction

B. momentum

C. torque

D. nature of the force

Answer: d

Watch Video Solution

24. Define inertia. Give its classification.

A. four

https://dl.doubtnut.com/l/_hkuo7PjdD5fR
https://dl.doubtnut.com/l/_un84IYNQeolg


B. three

C. two

D. many

Answer: b

Watch Video Solution

25. A book lying on the table continues in its

state of rest unless an external force acts on it

it id due to

https://dl.doubtnut.com/l/_un84IYNQeolg
https://dl.doubtnut.com/l/_1GqFN9c8K5mJ


A. inertia of rest

B. inertia of motion

C. inertia of direction

D. both b and c

Answer: a

Watch Video Solution

26. Select the correct pair in the following

situation 

An anthlete running in a race will continue to

https://dl.doubtnut.com/l/_1GqFN9c8K5mJ
https://dl.doubtnut.com/l/_ADnK52xQQtU5


run even after reaching the finishing point it is

due to

A. inetia of rest and force

B. inertia of mtion and retardation

C. inertia of direction and acceleration

D. inertia of direction and motion

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_ADnK52xQQtU5


27. Assuming earth to be an inertial frame an

example for inertial frame observer is

A. a driver in a train which is slowing down

to stip

B. a person in a car moving with uniform

velocity

C. a girl revolving in a merrry go round

D. a passenger in an aircraft which is taking

off

https://dl.doubtnut.com/l/_5cpQbK05Eaz7


Answer: b

Watch Video Solution

28. Which one of the following motions on a

smooth plane surface does not involve force

A. accereated motion in a straight line

B. retarded motion is a straight line

C. motion with constant momentum along

a straight line

https://dl.doubtnut.com/l/_5cpQbK05Eaz7
https://dl.doubtnut.com/l/_Ak3jaD0woiCB


D. motion along a stright line with varying

velocity

Answer: c

View Text Solution

29. Which of the following pairings is correct ?

A. newton 's seond law and law of

conservation of momentum

https://dl.doubtnut.com/l/_Ak3jaD0woiCB
https://dl.doubtnut.com/l/_cA3yjxIYJxn3


B. newton 's thrid law and law of

conservation of momentum

C. newton 's first law and law of

conservation of anglular momentum

D. newton third law lof conservation of

angular momentum

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_cA3yjxIYJxn3


30. Which one of the following statement is

incorrect statement

A. concurrent forces act at a common point

B. concurrent forces are forces

C. concurrent forces act in the same plane

D. concurrent forces are a collection of

forces

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_svMLUgjTlkhZ


31. If a body acquires an acceleration of

 under the action of a force 

then its mass is

A. kg

B.  kg

C.  kg

D.  kg

Answer: b

Watch Video Solution

2ms − 2

→
F = 6

→
i − 8

→
j + 10

→
k

10√2

5√2

20√2

2√2

https://dl.doubtnut.com/l/_svMLUgjTlkhZ
https://dl.doubtnut.com/l/_trmqWGM3Kbm1


32. A block P is pushed momentarily along a

horizontal surface with an initial velocity u if 

is the coefficient of sliding friction betweeen p

and the horizontal surface then calculate the

time taken by the block to attain the state of

rest

A. 

B. 

C. 

D. 

μ

gμ

u

μg

μug

μ

g

https://dl.doubtnut.com/l/_trmqWGM3Kbm1
https://dl.doubtnut.com/l/_Vm1QJ8OkkU6U


Answer: b

Watch Video Solution

33. Which one of the following statement is

correct 

When the speed of a moving body is doubled

A. its acceleartio is doubled

B. its momentum is doubled

C. its kinetic energy is doubled

D. its petential energy is doubled

https://dl.doubtnut.com/l/_Vm1QJ8OkkU6U
https://dl.doubtnut.com/l/_yscKDMn77iBh


Answer: b

Watch Video Solution

34. Which of the following statement is

correct

A. 1 newton =1kg 

B. 1 newton =  dyne

C. 1 dyne = g cm 

D. all the above

ms5

105

s2

https://dl.doubtnut.com/l/_yscKDMn77iBh
https://dl.doubtnut.com/l/_n5HaER1nuC3Z


Answer: d

Watch Video Solution

35. A jet engine works on the principal of

A. conservation of linear momentum

B. conservation of mass

C. conservation of energy

D. conservation of angular momentum

Answer: a

https://dl.doubtnut.com/l/_n5HaER1nuC3Z
https://dl.doubtnut.com/l/_PzhpUbzZ3Qij


Watch Video Solution

36. Which of the following pairs is correct pair

?

A. linear momenutm and angular

momentum

B. angualr momentum and force

C. potential energy and linear momentum

D. kinetic energy and linear momentum

https://dl.doubtnut.com/l/_PzhpUbzZ3Qij
https://dl.doubtnut.com/l/_ToGWi584e7C8


Answer: a

View Text Solution

37. When a body moves along a rough

horizontal surface which of the following

formula is incorrect

A. retardation 

B. force of friction 

C. work done against friction 

D. power p = f x v =

a = = μg
f

m

f = μR = μmg

W = τ × s

μmgv

https://dl.doubtnut.com/l/_ToGWi584e7C8
https://dl.doubtnut.com/l/_ZI3FlBd5HmID


Answer: c

View Text Solution

38. What is the dimensional formula for

impluse

A. 

B. 

C. 

D. 

ML2T − 1

MLT − 2

MLT − 1

M 0L− 1T − 1

https://dl.doubtnut.com/l/_ZI3FlBd5HmID
https://dl.doubtnut.com/l/_bKN3ftfGix3R


Answer: c

Watch Video Solution

39. A body rolled on ice with a velocity of

 comes to rest after traveling a

distance of 4m for this situation which of the

following pair is correct

A. acceleration =+8  coefficient of

friction =0.8

8ms − 1

ms − 2

https://dl.doubtnut.com/l/_bKN3ftfGix3R
https://dl.doubtnut.com/l/_SKyUllkFuADI


B. aqcceleration =+4  coeffiecient of

friction =0.4

C. accelearation =-8  coefficient fo

friction =0.816

D. acceleartion =-  coefficent of

friction =1.62

Answer: c

Watch Video Solution

ms − 2

ms − 2

16ms2

https://dl.doubtnut.com/l/_SKyUllkFuADI


40. SI unit of impulse is ______________

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

kgms − 1

kgs − 1

kg2ms − 1

kgm − 1s − 1

https://dl.doubtnut.com/l/_Qx3ySSkF8kOY


41. The force required to stop a moving object

depends on its

A. mass alone

B. velocity alone

C. mass or velocity

D. mass and velocity

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_j6J2gjMrGpEM
https://dl.doubtnut.com/l/_mJ1RiYXQd4W4


42. For bodies of same momenta their

velocities are

A. directly proportional to their

acceleration

B. inversely proportinal to their masses

C. directly proportional to their masses

D. inverslely proportional ot their forces

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_mJ1RiYXQd4W4
https://dl.doubtnut.com/l/_ACfgEO0Tuafc


43. According to the conservation linear

momentlum which one of the following

statement is correct

A. momentum before impact = meontum

after imapcat

B. momentum before impact 

momentum after impact

C. momentum before impact 

momentum after impact

>

<

https://dl.doubtnut.com/l/_ACfgEO0Tuafc


D. momentum before impact is inversely

proportional to momentum after impact

Answer: a

Watch Video Solution

44. Three blocks masses 4kg 6kg and 8kg are

connected by a string they are placed on a

frictionless surface if the system is pulled by a

force of F=36 N then acceleration of the body

https://dl.doubtnut.com/l/_ACfgEO0Tuafc
https://dl.doubtnut.com/l/_rrZQvh8COM2v


is a = and tension acting on the sting is T=

Which of the following pair is correct

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

a = 4m /s2, T = 14N

a = 8m /s2, T = 7N

a = 16m /s2, T = 196N

a = 4m /s2, T = 28N

https://dl.doubtnut.com/l/_rrZQvh8COM2v


45. A force system is said to be concurrent id

the lines of all forces

A. intersect at a common point

B. intersect at a common point in equal

angles

C. intersect at a common point in common

plane

D. none of these

Answer: a

https://dl.doubtnut.com/l/_1wzhSxofR4hq


Watch Video Solution

46. An explosion breaks a rock into three parts

in a horizontal plane two of them go off at

right angles to each other the first part of

mass 1 kg moves with a speed of 12 m/s the

second part of mass 2kg moves with a speed

of 8 m/s and the third aprt flies off with a

speed of 4 m/s calculate the mass of third part

A. 10 kg

B. 2.5 kg

https://dl.doubtnut.com/l/_1wzhSxofR4hq
https://dl.doubtnut.com/l/_2CqRuFlZNAvM


C. 4 kg

D. 5 kg

Answer: d

Watch Video Solution

47. Which of the followng pair is correct with

respect to the dimensions of two quantities

having same dimentions ?

A. force and momentum

https://dl.doubtnut.com/l/_2CqRuFlZNAvM
https://dl.doubtnut.com/l/_RB6z1Mi9mqZI


B. implulse and momentum

C. impulse and work

D. force and power

Answer: b

Watch Video Solution

48. The recoil velocity of a 4kg rifle that shoots

a bullet of mass 0.05 kg at a apeed 280 

is

ms − 1

https://dl.doubtnut.com/l/_RB6z1Mi9mqZI
https://dl.doubtnut.com/l/_nwNuGZ3zxR5e


A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

√3.5ms − 1

3.5ms − 1

−3.5ms − 1

−√3.5ms − 1

49. A body of mass 5kg is suspended by a

spring balance on an inclined plane as shown

in the figure. the spring balance measures

https://dl.doubtnut.com/l/_nwNuGZ3zxR5e
https://dl.doubtnut.com/l/_cm2S08XkWcAi


 


A. 50 N

B. 25 N

C. 500 N

D. 10 N

[g = 10 ]
m

s2

https://dl.doubtnut.com/l/_cm2S08XkWcAi


Answer: b

Watch Video Solution

50. A body of imparted motion from rest to

move in a straight line if it is then obstructed

by an opposite force then

A. the body will necessarilly change

direction

B. the body is sure to slow down

https://dl.doubtnut.com/l/_cm2S08XkWcAi
https://dl.doubtnut.com/l/_XdZW66fMklog


C. the body will necessarily continue to

move in the same direction at the saem

speed

D. none of these

Answer: b

Watch Video Solution

51. If the mnormal force is doubled then

coefficient of friction is

https://dl.doubtnut.com/l/_XdZW66fMklog
https://dl.doubtnut.com/l/_L6iBll8wPgpF


A. halved

B. tripled

C. doubled

D. not changed

Answer: c

Watch Video Solution

52. A block has been placed on an inclined

plane with the slope angle  block slides downθ

https://dl.doubtnut.com/l/_L6iBll8wPgpF
https://dl.doubtnut.com/l/_o1BvwZGVoEbL


the plane at constant speed the coefficient of

kinetic friction is equal to

A. 

B. 

C. g

D. 

Answer: d

Watch Video Solution

sin θ

cos θ

tan θ

https://dl.doubtnut.com/l/_o1BvwZGVoEbL


53. From the follolwing factors choose the odd

man out

A. static friction

B. kinetic friction

C. impulse friction

D. rolling friction

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_4whIOiPwH03y
https://dl.doubtnut.com/l/_5far3arytxoT


54. Direction of frictional force between wheel

of the car and road is 

A. upward

B. forward

C. backward

D. downward

Answer: b

https://dl.doubtnut.com/l/_5far3arytxoT


Watch Video Solution

55. Which of the following is the dimension of

coefficient of friction

A. 

B. 

C. 

D. 

Answer: b

MLT − 2

M 0L0T 0

M 2LT − 2

M 2LT

https://dl.doubtnut.com/l/_5far3arytxoT
https://dl.doubtnut.com/l/_aHFckeE5aPBE


Watch Video Solution

56. If  is coefficient of static friction and 

is coefficent of kinetic friction then

A. there is no relation between  and 

B. general,ly 

C. generally 

D. generally 

Answer: b

Watch Video Solution

μs μk

μs μk

μs > μk

μs = μk

μs < m, uk

https://dl.doubtnut.com/l/_aHFckeE5aPBE
https://dl.doubtnut.com/l/_L57OmdQy6hMj


57. For a car not to turn safely on a curved

raod

A. speed is slow

B. distance between tyres is large

C. centre of gravity for car is low

D. low friction force

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_L57OmdQy6hMj
https://dl.doubtnut.com/l/_iXwZqnyPjBcW


58. A body of mass m slides down a rough

plane of uinclination  if  is the coefficent of

friction then acceleratio of the body will be

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

α μ

g sin α

μ cos α

g(sin α − μ cos α)

g(cos α − μ sin α)

https://dl.doubtnut.com/l/_rKSpONQFGusk


59. Which one of the following statement is a

correct statement 

When two surfaces are coated with a lubricant

then they

A. stick to each other

B. slide upon each other

C. roll upon each other

D. none of these

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_HPymPIqAcoeR


60. A 40N force pulls a system of three masses

on a horizontal frictionless surface the value

of tension  is 


A. 10 N

B. 20 N

C. 30 N

D. 40 N

T1

https://dl.doubtnut.com/l/_HPymPIqAcoeR
https://dl.doubtnut.com/l/_ruIZtRkpUwe4


Answer: b

Watch Video Solution

61. An object placed on an inclined plane starts

sliding when the angle of incline becomes 

the coefficent of statyic friction between the

object and the plane is

A. 

B. 

C. 

30∘

1

√3

√3

1

2

https://dl.doubtnut.com/l/_ruIZtRkpUwe4
https://dl.doubtnut.com/l/_gnPoBZS3ejED


D. 

Answer: a

Watch Video Solution

√3

2

62. A boy presses a book against the front wall

such that the book do not move the force of

friction between the wall and the book is

A. towards right

B. towards left

https://dl.doubtnut.com/l/_gnPoBZS3ejED
https://dl.doubtnut.com/l/_qKnBDEcBq1uB


C. downwards

D. upwards

Answer: d

Watch Video Solution

63. A cyclist travels with a speed of  if

the angle of inclinatio with vertical is 

while he goes around a circle then the radius

of the circle is

36km − 1

45∘

https://dl.doubtnut.com/l/_qKnBDEcBq1uB
https://dl.doubtnut.com/l/_OTKU8kQ0hiCd


A. 7m

B. 10 m

C. 5.5 m

D. 20 m

Answer: b

Watch Video Solution

64. Identify the correct statement

https://dl.doubtnut.com/l/_OTKU8kQ0hiCd
https://dl.doubtnut.com/l/_WWaHz3oI7suz


A. static friction depends on the area of

contact

B. kinetic friction depends on the area of

contact

C. coefficient of static friction does not

depend on the surfaces in contact

D. coefficient of kinetic friction is less than

the coefficeint of static friction

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_WWaHz3oI7suz


65. A particle revolves round a circular path

the acceleration of the particle is inversely

proportional to

A. radius

B. velocity alone

C. mass of particle

D. both b and c

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_WWaHz3oI7suz
https://dl.doubtnut.com/l/_B316OB2b42mb


66. When milk is churned cream gets

separated due to

A. centripetal force

B. centrifugal force

C. frictional force

D. gravitational force

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_B316OB2b42mb
https://dl.doubtnut.com/l/_TCDwrkhA9QAk


67. Statement 1 represent assertion And

statement 2 represents reason which one of

the following is correct 

Statement 1 The driver in a car moving with a

constant speed on a straight road is non

inertial frame of reference 

Statement 2 A frame of reference in which

newton 's laws of motion are applicable is a

non inertial frame

https://dl.doubtnut.com/l/_TCDwrkhA9QAk
https://dl.doubtnut.com/l/_1PxEe4MmYlle


A. statement 1 is true and statement 2 is

false

B. statement 1 is false and statement 2 is

true

C. statement 1 is false and statemetn 2 is

false

D. statement 1 is true and statement 2 is

true and it explains statement 1

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_1PxEe4MmYlle


68. A body is moving in a circular path with

acceleration a if its velocity gets doubled find

the ratio acceleration after and before the

change

A. 

B. 

C. 

D. 

Answer: d

1: 4

: 1
1

4

2: 1

4: 1

https://dl.doubtnut.com/l/_1PxEe4MmYlle
https://dl.doubtnut.com/l/_De5PrC95DfuZ


Watch Video Solution

69. Assertion : on a rainy day it is difficult to

drive a bus at high speed 

Reason : Due to wetting of the surface the

value of coefficient of friction is lowered Which

one of the following statement is a correct

statement

A. Assertion is true and reasoin is false

B. Assertion is true but reason does not

explain assertion

https://dl.doubtnut.com/l/_De5PrC95DfuZ
https://dl.doubtnut.com/l/_JzTFtxdD1w16


C. Assertion is true and reason expalins

assertin

D. Assertion is true reason is also true

Answer: d

Watch Video Solution

70. For the following situation which of the

following is correct 

When a car takes a turn on the road the

centripetal force is provided by

https://dl.doubtnut.com/l/_JzTFtxdD1w16
https://dl.doubtnut.com/l/_y3hKNFyyhf6v


A. weight of the car

B. gravitational force

C. the frictional force between the tyres

and the road

D. all the above

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_y3hKNFyyhf6v


71. Assertion : Usage of ball bearing between

two moving parts in a machine is a common

practice 

Reason : Ball bearing reduce vibrations and

provide good stability 

Which one of the following statement is a

correct statement

A. assertion is true and reason is true and

explains assertion

https://dl.doubtnut.com/l/_2bpLHteTaXqv


B. assertion is true and reason explain

assertion

C. assertion is true and reason is false

D. assertion is false and reason is true

Answer: c

Watch Video Solution

72. Which one of the following statement is

correct for the following situation 

Assertion : Frictional forces are conservative

https://dl.doubtnut.com/l/_2bpLHteTaXqv
https://dl.doubtnut.com/l/_cUam2OnzGKpY


forces 

Reason : Potential energy is associated with

frictional forces

A. assertion is true and reason is false

B. assertion is false and reason is true

C. assertion is false and reason is false

D. assertion is true and reson is true

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_cUam2OnzGKpY
https://dl.doubtnut.com/l/_sfYa9ur7uWQ7


73. Which of the following is a correct

statement when a car is moving as follows

when a car is turning round a corner the

person sitting inside the car

A. may fall dwon experiences a force

B. experiences a force

C. experiences an inward force

D. experiences outward force

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_sfYa9ur7uWQ7


74. When a stone tied to the end of a string

whireled in a circular path the centripetal

force is provided by the

A. weight of the stone

B. centrifugal force

C. tension in the string

D. weight of the string

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_sfYa9ur7uWQ7
https://dl.doubtnut.com/l/_PASIiaBcMgvG


75. The condition for skidding is

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

tan θ = μ

tan θ < μ

tan θ > μ

tan θ = 0

https://dl.doubtnut.com/l/_PASIiaBcMgvG
https://dl.doubtnut.com/l/_lAMT80VBX26E
https://dl.doubtnut.com/l/_yvbqMJh5CLoT


76. A body is moving with a constant speed v

in a circle of radius r. its angualr acceleration

is :

A. vr

B. 

C. zero

D. 

Answer: c

Watch Video Solution

v

r

v

r3

https://dl.doubtnut.com/l/_yvbqMJh5CLoT
https://dl.doubtnut.com/l/_HhGNXOtvRPRg


77. Which one of the following statement is

correct for the following situation 

Assertion : A man in a closed cabin which is

falling freely does not experience gravitational

force 

Reason: Inertial mass is equal to gravitational

mass

A. assertion is true but reason is false

B. assertion is false but reason is true

C. assertion is true but reason is true and

explains assertion correctly

https://dl.doubtnut.com/l/_HhGNXOtvRPRg


D. assertion is true reson is true but does

not explain assertion correctly

Answer: d

Watch Video Solution

78. Select the odd man out from the following

statement

A. centrifugal force is a pseudo force

https://dl.doubtnut.com/l/_HhGNXOtvRPRg
https://dl.doubtnut.com/l/_RKGyhJ47R8cB


B. centrifugal force is may be found in

inertial frames

C. centrifugal force acts away from the

centre of circulators path

D. centrifugal force acts only in rotating

frames

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_RKGyhJ47R8cB


79. When a particle is in uniform motion it

does not have

A. radial velocity and radial acceleation

B. radial velocity and trasverse acceleration

C. transverse velocity and radial

acceleration

D. transverse velcoity and transverse

acceleartion

Answer: b

https://dl.doubtnut.com/l/_MZPdqXqFpWwF


Watch Video Solution

80. Which of the following pairs is a correct

pair A particle revolves round a circular path

the acceleration of the particle is

A. along the circumference of the circle and

B. along the tangent and v= ar

C. along the radius and 

D. zero and velocity is zero

a =
v2

m

a =
v2

r

https://dl.doubtnut.com/l/_MZPdqXqFpWwF
https://dl.doubtnut.com/l/_cgOL1OoFW5PB


Answer: c

Watch Video Solution

81. A man getting down a runnning bus falls

forward

A. due to inertia of rest road is left behing

and man reaches forward

B. due to inertia of motion upper part of

body continue to be in motion in

https://dl.doubtnut.com/l/_cgOL1OoFW5PB
https://dl.doubtnut.com/l/_hSfDjA5ZCUe9


forward direction while feet come to rest

as soon as they touch the road

C. as he leans forward as a matter of habit

D. due to the combined effect ofall the

three factors states in (a),(b)and (c )

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_hSfDjA5ZCUe9


82. Choose the correct statement of the

following.

A. unable to change by itself the state of

rest

B. unable to change by itself the state of

uniform motion

C. unable to change by itself the direction

of motion

https://dl.doubtnut.com/l/_eWlvvOtNcZxB


D. unable to change by itself the state of

rest and of uniform linear motion

Answer: d

Watch Video Solution

83. Physical independence of force is a

consequence of

A. third law of motion

B. second law of motion

https://dl.doubtnut.com/l/_eWlvvOtNcZxB
https://dl.doubtnut.com/l/_BdcyT33ihkJZ


C. first law of motin

D. all the above

Answer: c

Watch Video Solution

84. Select the correct statement for the given

situation

A. rider is taken bqack

B. rider is suddenly afraid of falling

https://dl.doubtnut.com/l/_BdcyT33ihkJZ
https://dl.doubtnut.com/l/_RsyqIxF7nxu2


C. inertia of rest keeps the upper part of

body at rest wheras lower part of the

body moves forward with the horse

D. none of these

Answer: c

View Text Solution

85. Newton 's first law of motion describes the

following

https://dl.doubtnut.com/l/_RsyqIxF7nxu2
https://dl.doubtnut.com/l/_nnPxEZ3q24N7


A. energy

B. work

C. inertia

D. moment of inertia

Answer: c

Watch Video Solution

86. Which of the following is not an

illustration of newton 's third law

https://dl.doubtnut.com/l/_nnPxEZ3q24N7
https://dl.doubtnut.com/l/_AVNBcSMHda2Y


A. flight of a jet plane

B. a cricket player lowering his hands while

catching a cricket ball

C. walking on floor

D. rebouncing of a rubber plane

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_AVNBcSMHda2Y


87. Newton 's second law gives the measures

of

A. impulse

B. force

C. momentum

D. angular momentum

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_wfKzm9SI6jRa
https://dl.doubtnut.com/l/_zx1cYOxSkZSt


88. Select the odd man out from the following

laws

A. newton first law of mtion

B. newton 's third law of motion

C. newton 's law of gravitation

D. newton 's second law of motion

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_zx1cYOxSkZSt


89. Swimming is possible on account of

A. first law of mtion

B. second law of mtion

C. third law of mtion

D. newton 's law of gravition

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_gBJU6sBPiuFG


90. Select the correct reason for the uplift of a

jet plane A jet plane moves up in air because

A. the gravity does not act on bodies

moving with high speeds

B. the thrust of the jet compensates for

the force of gravity

C. the flow of air around the wings causes

an upward force4 whcihc compensates

for the force of gravity

https://dl.doubtnut.com/l/_TJAk7OhpXjnA


D. the weight of air whose volume is equal

to the volume of the plane is more than

the weight of the plane

Answer: b

Watch Video Solution

91. Select the correct cause for the given

situation when a horse pulls a wagon the

force that causes the horse to move forward is

the force

https://dl.doubtnut.com/l/_TJAk7OhpXjnA
https://dl.doubtnut.com/l/_Rf5222YvsY4w


A. the ground exerts on him

B. he exerts on the ground

C. the wagon exerts on jhim

D. he exerts on the wagon

Answer: b

Watch Video Solution

92. No force is required for

https://dl.doubtnut.com/l/_Rf5222YvsY4w
https://dl.doubtnut.com/l/_NcOFolvFqubD


A. an object moving in straight line with

constant velocity

B. an object moving in circular motion

C. an object moving with constant

acceleration

D. an object moving in elliptical path

Answer: a

View Text Solution

https://dl.doubtnut.com/l/_NcOFolvFqubD


93. A book is lying on the table what is the

angle between the action of the book on the

table and the reaction of the table on the

book

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

0∘

45∘

90∘

180∘

https://dl.doubtnut.com/l/_oSfJgiAhTErO


Watch Video Solution

94. Which one of the following is not a force

A. impulse

B. tension

C. thrust

D. weight

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_oSfJgiAhTErO
https://dl.doubtnut.com/l/_ACq48pycr7WT
https://dl.doubtnut.com/l/_tEPwWatnvHL3


95. Match the following laws or theorem given

in column 1 and the facts given in column 

A. 1-(i),2(iii),3-(ii),4-(v)

B. 1-(vi),-(iv),3-(i),4-(ii)

C. 1-(iv),2-(iii),3-(v),4-(i)

https://dl.doubtnut.com/l/_tEPwWatnvHL3


D. 1-(vi),2-(i),3-(v),47-(vi)

Answer: b

Watch Video Solution

96. Which concept was given by newton 's first

law of motion ?

A. force

B. weight

C. work

https://dl.doubtnut.com/l/_tEPwWatnvHL3
https://dl.doubtnut.com/l/_VVNCbSdl3evp


D. inertia

Answer: d

Watch Video Solution

97. Which of the following laws gives a method

of measuring force ?

A. newton 's first of motion

B. newton 's second law of mtion

C. newton 's third law of motion

https://dl.doubtnut.com/l/_VVNCbSdl3evp
https://dl.doubtnut.com/l/_6jJFak4PUrhc


D. none

Answer: b

Watch Video Solution

98. The law of conservation of momentum can

be derived from

A. newton 's first law of motion

B. newton 's second law of motion

C. newton 's third law of mtion

https://dl.doubtnut.com/l/_6jJFak4PUrhc
https://dl.doubtnut.com/l/_TgHMLUN3XyOA


D. all of these laws

Answer: c

Watch Video Solution

99. While walking the vertical component of

reactive force balances our

A. force

B. mass

C. weight

https://dl.doubtnut.com/l/_TgHMLUN3XyOA
https://dl.doubtnut.com/l/_3FGSLWTcHOUk


D. impulse

Answer: c

View Text Solution

100. Which of the following forces tends to

stop the moving object

A. frictional force acting on the vehicle is

along negative x direction

B. magnetic force

https://dl.doubtnut.com/l/_3FGSLWTcHOUk
https://dl.doubtnut.com/l/_Ddyw44gsfkRT


C. gravitational force

D. electric force

Answer: a

Watch Video Solution

101. In the following situatin select the correct

pair of the following pairs first law of newton

deals with the

A. concept of inertia and momentum

https://dl.doubtnut.com/l/_Ddyw44gsfkRT
https://dl.doubtnut.com/l/_IqqsjuuOaRhJ


B. definition of force and work

C. concept of momentum and torque

D. concept of inertia and definition of force

Answer: d

Watch Video Solution

102. Second law of newton gives the definition

of force

A. fundamental

https://dl.doubtnut.com/l/_IqqsjuuOaRhJ
https://dl.doubtnut.com/l/_0Q7B3hoxtvvp


B. quantiative

C. dimensional

D. both b and c

Answer: d

Watch Video Solution

103. Third law of newton explains the concept

of

A. inertia of direction

https://dl.doubtnut.com/l/_0Q7B3hoxtvvp
https://dl.doubtnut.com/l/_LGFf9fYoDsLH


B. momentum

C. torque

D. nature of the force

Answer: d

Watch Video Solution

104. Inertia is of types

A. four

B. three

https://dl.doubtnut.com/l/_LGFf9fYoDsLH
https://dl.doubtnut.com/l/_s3y3gTceGCSd


C. two

D. many

Answer: b

Watch Video Solution

105. A book lying on the table continues in its

state of rest unless an external force acts on it

it id due to

A. inertia of rest

https://dl.doubtnut.com/l/_s3y3gTceGCSd
https://dl.doubtnut.com/l/_oZEafSTCPWFg


B. inertia of motion

C. inertia of direction

D. both b and c

Answer: a

Watch Video Solution

106. Select the correct pair in the following

situation 

An anthlete running in a race will continue to

https://dl.doubtnut.com/l/_oZEafSTCPWFg
https://dl.doubtnut.com/l/_j9IzeZryJTlS


run even after reaching the finishing point it is

due to

A. inetia of rest and force

B. inertia of mtion and retardation

C. inertia of direction and acceleration

D. inertia of direction and motion

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_j9IzeZryJTlS


107. Assuming earth to be an inertial frame an

example for inertial frame observer is

A. a driver in a train which is slowing down

to stip

B. a person in a car moving with uniform

velocity

C. a girl revolving in a merrry go round

D. a passenger in an aircraft which is taking

off

https://dl.doubtnut.com/l/_LcBJFvIMhHck


Answer: b

Watch Video Solution

108. Which one of the following motions on a

smooth plane surface does not involve force

A. accereated motion in a straight line

B. retarded motion is a straight line

C. motion with constant momentum along

a straight line

https://dl.doubtnut.com/l/_LcBJFvIMhHck
https://dl.doubtnut.com/l/_2Qc4pcMwHnIQ


D. motion along a stright line with varying

velocity

Answer: c

View Text Solution

109. Which of the following paris is a correct

pair

A. newton 's second law and law of

conservation of momentum

https://dl.doubtnut.com/l/_2Qc4pcMwHnIQ
https://dl.doubtnut.com/l/_907i0nAeTgn5


B. newton 's third law and law of

conservation of momentum

C. newton 's first law and law of

conservation of angular momentum

D. newton 's third and law of conservation

of angular momentum

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_907i0nAeTgn5


110. Which one of the following statement is

incorrect statement

A. concurrent forces act at a common point

B. concurrent forces are forces

C. concurrent forces act in the same plane

D. concurrent forces are a collection of

forces

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_QauaRl4ANiGb


111. If a body acquires an acceleration of

 under the action of a force 

then its mass is

A. kg

B.  kg

C.  kg

D.  kg

Answer: b

Watch Video Solution

2ms − 2

→
F = 6

→
i − 8

→
j + 10

→
k

10√2

5√2

20√2

2√2

https://dl.doubtnut.com/l/_QauaRl4ANiGb
https://dl.doubtnut.com/l/_g8zTjeT0Lj1A


112. A block P is pushed momentarily along a

horizontal surface with an initial velocity u if 

is the coefficient of sliding friction betweeen p

and the horizontal surface then calculate the

time taken by the block to attain the state of

rest

A. 

B. 

C. 

D. 

μ

gμ

u

μg

μug

μ

g

https://dl.doubtnut.com/l/_g8zTjeT0Lj1A
https://dl.doubtnut.com/l/_7hIujm7qHbTo


Answer: b

Watch Video Solution

113. Which one of the following statement is

correct 

When the speed of a moving body is doubled

A. its acceleartio is doubled

B. its momentum is doubled

C. its kinetic energy is doubled

D. its petential energy is doubled

https://dl.doubtnut.com/l/_7hIujm7qHbTo
https://dl.doubtnut.com/l/_ieyn8jgxFSwS


Answer: b

Watch Video Solution

114. Which of the following statement is

correct

A. 1 newton =1kg 

B. 1 newton =  dyne

C. 1 dyne = g cm 

D. all the above

ms − 2

105

s − 2

https://dl.doubtnut.com/l/_ieyn8jgxFSwS
https://dl.doubtnut.com/l/_DbVm9IUrrJAb


Answer: d

Watch Video Solution

115. A jet engine works on the principal of

A. conservation of linear momentum

B. conservation of mass

C. conservation of energy

D. conservation of angular momentum

Answer: a

https://dl.doubtnut.com/l/_DbVm9IUrrJAb
https://dl.doubtnut.com/l/_q9DWS0yPis07


Watch Video Solution

116. Which of the following pairs is correct

A. linear momenutm and angular

momentum

B. angualr momentum and force

C. potential energy and linear momentum

D. kinetic energy and linear momentum

Answer: a

https://dl.doubtnut.com/l/_q9DWS0yPis07
https://dl.doubtnut.com/l/_vDeIeJ2HsWbB


Watch Video Solution

117. When person cycling on rough horizontal

surface then which of the following are correct

A. retardation 

B. force of friction 

C. work done against friction 

D. power p = f x v =

Answer: c

Watch Video Solution

a = = μg
f

m

f = μR = μmg

W = τ × s

μmgv

https://dl.doubtnut.com/l/_vDeIeJ2HsWbB
https://dl.doubtnut.com/l/_VWmqddn6n9DU


118. What is the dimensional formula for

impluse

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

ML2T − 1

MLT − 2

MLT − 1

M 0L− 1T − 1

https://dl.doubtnut.com/l/_VWmqddn6n9DU
https://dl.doubtnut.com/l/_yLNCj9bz6IDI


119. A body rolled on ice with a velocity of

 comes to rest after traveling a

distance of 4m for this situation which of the

following pair is correct

A. acceleration =+8  coefficient of

friction =0.8

B. aqcceleration =+4  coeffiecient of

friction =0.4

C. accelearation =-8  coefficient fo

friction =0.816

8ms − 1

ms − 2

ms − 2

ms − 2

https://dl.doubtnut.com/l/_0axq4IFmed94


D. acceleartion =-  coefficent of

friction =1.62

Answer: c

Watch Video Solution

16ms2

120. SI unit of impulse is ______________

A. 

B. 

C. 

kgms − 1

kgs − 1

kg2ms − 1

https://dl.doubtnut.com/l/_0axq4IFmed94
https://dl.doubtnut.com/l/_zJuN2g1xyH6j


D. 

Answer: a

Watch Video Solution

kgm − 1s − 1

121. The force required to stop a moving object

depends on its

A. mass alone

B. velocity alone

C. mass or velocity

https://dl.doubtnut.com/l/_zJuN2g1xyH6j
https://dl.doubtnut.com/l/_YsB9D30ZXrWR


D. mass and velocity

Answer: d

Watch Video Solution

122. For bodies of same momenta their

velocities are

A. directly proportional to their

acceleration

B. inversely proportinal to their masses

https://dl.doubtnut.com/l/_YsB9D30ZXrWR
https://dl.doubtnut.com/l/_f8n71Kqlt1T1


C. directly proportional to their masses

D. inverslely proportional ot their forces

Answer: b

Watch Video Solution

123. According to the conservation linear

momentlum which one of the following

statement is correct

https://dl.doubtnut.com/l/_f8n71Kqlt1T1
https://dl.doubtnut.com/l/_q5S2EZnt3KoB


A. momentum before impact = meontum

after imapcat

B. momentum before impact 

momentum after impact

C. momentum before impact 

momentum after impact

D. momentum before impact is inversely

proportional to momentum after impact

Answer: a

Watch Video Solution

>

<

https://dl.doubtnut.com/l/_q5S2EZnt3KoB


124. Three blocks masses 4kg 6kg and 8kg are

connected by a string they are placed on a

frictionless surface if the system is pulled by a

force of F=36 N then acceleration of the body

is a = and tension acting on the sting is T=

Which of the following pair is correct

A. 

B. 

C. 

a = 4m /s2, T = 14N

a = 8m /s2, T = 7N

a = 16m /s2, T = 196N

https://dl.doubtnut.com/l/_q5S2EZnt3KoB
https://dl.doubtnut.com/l/_fs3NqDHNumMH


D. 

Answer: d

Watch Video Solution

a = 4m /s2, T = 28N

125. A force system is said to be concurrent id

the lines of all forces

A. intersect at a common point

B. intersect at a common point in equal

angles

https://dl.doubtnut.com/l/_fs3NqDHNumMH
https://dl.doubtnut.com/l/_4OOSZIkdH6jH


C. intersect at a common point in common

plane

D. none of these

Answer: a

Watch Video Solution

126. An explosion breaks a rock into three

parts in a horizontal plane two of them go off

at right angles to each other the first part of

mass 1 kg moves with a speed of 12 m/s the

https://dl.doubtnut.com/l/_4OOSZIkdH6jH
https://dl.doubtnut.com/l/_xDslUUJwGy2l


second part of mass 2kg moves with a speed

of 8 m/s and the third aprt flies off with a

speed of 4 m/s calculate the mass of third part

A. 10 kg

B. 2.5 kg

C. 4 kg

D. 5 kg

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_xDslUUJwGy2l
https://dl.doubtnut.com/l/_poDQnm8G9ycI


127. Which of the followng pair is correct with

respect to the dimensions of two quantities

having same dimentions ?

A. force and momentum

B. implulse and momentum

C. impulse and work

D. force and power

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_poDQnm8G9ycI
https://dl.doubtnut.com/l/_RxUCm7QOcz6H


128. The recoil velocity of a 4kg rifle that

shoots a bullet of mass 0.05 kg at a apeed 280

 is

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

ms − 1

√3.5ms − 1

3.5ms − 1

−3.5ms − 1

−√3.5ms − 1

https://dl.doubtnut.com/l/_RxUCm7QOcz6H


129. A body of mass 5kg is suspended by a

spring balance on an inclined plane as shown

in the figure. the spring balance measures

 


A. 50 N

[g = 10 ]
m

s2

https://dl.doubtnut.com/l/_YnCvrtS0UYfd


B. 25 N

C. 500 N

D. 10 N

Answer: b

Watch Video Solution

130. A body of imparted motion from rest to

move in a straight line if it is then obstructed

by an opposite force then

https://dl.doubtnut.com/l/_YnCvrtS0UYfd
https://dl.doubtnut.com/l/_ly4DHWowkvML


A. the body will necessarilly change

direction

B. the body is sure to slow down

C. the body will necessarily continue to

move in the same direction at the saem

speed

D. none of these

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_ly4DHWowkvML
https://dl.doubtnut.com/l/_niwoYQPjnV1g


131. If the mnormal force is doubled then

coefficient of friction is

A. halved

B. tripled

C. doubled

D. not changed

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_niwoYQPjnV1g
https://dl.doubtnut.com/l/_P5edEURfgPcp


132. A block has been placed on an inclined

plane with the slope angle  block slides down

the plane at constant speed the coefficient of

kinetic friction is equal to

A. 

B. 

C. g

D. 

Answer: d

Watch Video Solution

θ

sin θ

cos θ

tan θ

https://dl.doubtnut.com/l/_P5edEURfgPcp


133. From the follolwing factors choose the

odd man out

A. static friction

B. kinetic friction

C. impulse friction

D. rolling friction

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_P5edEURfgPcp
https://dl.doubtnut.com/l/_5L84U4a9xFwz
https://dl.doubtnut.com/l/_85ATWVf6VHvN


134. Direction of frictional force between

wheel of the car and road is 

A. upward

B. forward

C. backward

D. downward

https://dl.doubtnut.com/l/_85ATWVf6VHvN


Answer: b

Watch Video Solution

135. Which of the following is the dimension of

coefficient of friction

A. 

B. 

C. 

D. 

MLT − 2

M 0L0T 0

M 2LT − 2

M 2LT

https://dl.doubtnut.com/l/_85ATWVf6VHvN
https://dl.doubtnut.com/l/_kZkLaaItaCCW


Answer: b

Watch Video Solution

136. If  is coefficient of static friction and 

is coefficent of kinetic friction then

A. there is no relation between  and 

B. general,ly 

C. generally 

D. generally 

μs μk

μs μk

μs > μk

μs = μk

μs < m, uk

https://dl.doubtnut.com/l/_kZkLaaItaCCW
https://dl.doubtnut.com/l/_sTAzO1glcLE6


Answer: b

Watch Video Solution

137. For a car not to turn safely on a curved

raod

A. speed is slow

B. distance between tyres is largwe

C. centre of gravity for car is low

D. low friction force

https://dl.doubtnut.com/l/_sTAzO1glcLE6
https://dl.doubtnut.com/l/_IGjmmIoT5qBU


Answer: d

Watch Video Solution

138. A body of mass m slides down a rough

plane of uinclination  if  is the coefficent of

friction then acceleratio of the body will be

A. 

B. 

C. 

D. 

α μ

g sin α

μ cos α

g(sin α − μ cos α)

g(cos α − μ sin α)

https://dl.doubtnut.com/l/_IGjmmIoT5qBU
https://dl.doubtnut.com/l/_5GRPPo6i9BJM


Answer: c

Watch Video Solution

139. Which one of the following statements is

a correct statement?

A. stick to each other

B. slide upon each other

C. roll upon each other

D. none of these

https://dl.doubtnut.com/l/_5GRPPo6i9BJM
https://dl.doubtnut.com/l/_T2rgkEww518G


Answer: b

Watch Video Solution

140. A 40N force pulls a system of three

masses on a horizontal frictionless surface the

value of tension  is 


A. 10 N

B. 20 N

T1

https://dl.doubtnut.com/l/_T2rgkEww518G
https://dl.doubtnut.com/l/_5QdBQCbdEoeL


C. 30 N

D. 40 N

Answer: b

Watch Video Solution

141. An object placed on an inclined plane

starts sliding when the angle of incline

becomes  the coefficent of statyic friction

between the object and the plane is

30∘

https://dl.doubtnut.com/l/_5QdBQCbdEoeL
https://dl.doubtnut.com/l/_mQSqnL7Cdbcf


A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

1

√3

√3

1

2

√3

2

142. A boy presses a book against the front

wall such that the book do not move the force

of friction between the wall and the book is

https://dl.doubtnut.com/l/_mQSqnL7Cdbcf
https://dl.doubtnut.com/l/_YmK7HP5Zyo49


A. towards right

B. towards left

C. downwards

D. upwards

Answer: d

Watch Video Solution

143. A cyclist travels with a speed of  if

the angle of inclinatio with vertical is 

36km − 1

45∘

https://dl.doubtnut.com/l/_YmK7HP5Zyo49
https://dl.doubtnut.com/l/_LXOwuZTymBFA


while he goes around a circle then the radius

of the circle is

A. 7m

B. 10 m

C. 5.5 m

D. 20 m

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_LXOwuZTymBFA


144. Identify the correct statement

A. static friction depends on the area of

contact

B. kinetic friction depends on the area of

contact

C. coefficient of static friction does not

depend on the surfaces in contacct

D. coefficient of kinetic functio is less than

the coefficeint of static friction

https://dl.doubtnut.com/l/_328hXSlU0pRV


Answer: d

Watch Video Solution

145. A particle revolves round a circular path

the acceleration of the particle is inversely

proportional to

A. radius

B. velocity alone

C. mass of particle

D. both b and c

https://dl.doubtnut.com/l/_328hXSlU0pRV
https://dl.doubtnut.com/l/_RBlkAoYNxPLN


Answer: a

Watch Video Solution

146. When milk is churned cream gets

separated due to

A. centripetal force

B. centrifugal force

C. frictional force

D. gravitational force

https://dl.doubtnut.com/l/_RBlkAoYNxPLN
https://dl.doubtnut.com/l/_t5GKDPBLil5m


Answer: b

Watch Video Solution

147. Statement 1 represent assertion And

statement 2 represents reason which one of

the following is correct 

Statement 1 The driver in a car moving with a

constant speed on a straight road is non

inertial frame of reference 

Statement 2 A frame of reference in which

https://dl.doubtnut.com/l/_t5GKDPBLil5m
https://dl.doubtnut.com/l/_xbZ7MvMWAY0C


newton 's laws of motion are applicable is a

non inertial frame

A. statement 1 is ture and statement 2 is

false

B. statement 1 is true and statement 2 is

false

C. statement 1 is true and statemetn 2 is

ture gives correct explanation for

statement 1

https://dl.doubtnut.com/l/_xbZ7MvMWAY0C


D. statement 1 is true and statement 2 is

true but it does not explain statement 1

Answer: b

Watch Video Solution

148. A body is moving in a circular path with

acceleration a if its velocity gets doubled find

the ratio acceleration after and before the

change

https://dl.doubtnut.com/l/_xbZ7MvMWAY0C
https://dl.doubtnut.com/l/_qKl14rWipCKj


A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

1: 4

: 1
1

4

2: 1

4: 1

149. Assertion : on a rainy day it is difficult to

drive a bus at high speed 

Reason : Due to wetting of the surface the

https://dl.doubtnut.com/l/_qKl14rWipCKj
https://dl.doubtnut.com/l/_ExBN1lwBP2CP


value of coefficient of friction is lowered Which

one of the following statement is a correct

statement

A. Assertion is true and reasoin is false

B. Assertion is true but reason does not

explain assertion

C. Assertion is true and reason expalins

assertin

D. Assertion is true reason is also true

Answer: d

https://dl.doubtnut.com/l/_ExBN1lwBP2CP


Watch Video Solution

150. For the following situation which of the

following is correct 

When a car takes a turn on the road the

centripetal force is provided by

A. weight of the car

B. gravitational force

C. the frictional force between the tyres

and the road

https://dl.doubtnut.com/l/_ExBN1lwBP2CP
https://dl.doubtnut.com/l/_kEqizqXfPKCJ


D. all the above

Answer: c

Watch Video Solution

151. Assertion : Usage of ball bearing between

two moving parts in a machine is a common

practice 

Reason : Ball bearing reduce vibrations and

provide good stability 

https://dl.doubtnut.com/l/_kEqizqXfPKCJ
https://dl.doubtnut.com/l/_VddBRT2xHCn9


Which one of the following statement is a

correct statement

A. assertion is true and reason is true and

explains assertio

B. assertion is true and reason explain

assertion

C. assertion is true and reson is flase

D. assertion is flase and reason is true

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_VddBRT2xHCn9


152. Which one of the following statement is

correct for the following situation 

Assertion : Frictional forces are conservative

forces 

Reason : Potential energy is associated with

frictional forces

A. assertion is true and reason is false

B. assertion is false and reason is true f

C. assertion is flase and reson is false

https://dl.doubtnut.com/l/_VddBRT2xHCn9
https://dl.doubtnut.com/l/_DfuPWmgdZZO1


D. assertion is true and reson is true

Answer: c

Watch Video Solution

153. Which of the following is a correct

statement when a car is moving as follows

when a car is turning round a corner the

person sitting inside the car

A. may fall dwon experiences a force

https://dl.doubtnut.com/l/_DfuPWmgdZZO1
https://dl.doubtnut.com/l/_vs0I6yGdm0lK


B. experiences a force

C. experiences an inward force

D. experiences outward force

Answer: d

Watch Video Solution

154. When a stone tied to the end of a string

whireled in a circular path the centripetal

force is provided by the

https://dl.doubtnut.com/l/_vs0I6yGdm0lK
https://dl.doubtnut.com/l/_RQ5fJcdY6H2Q


A. weight of the stone centrufugal force q

B. centrufugal force

C. tension in the string

D. weight of the string

Answer: c

Watch Video Solution

155. The condition for skidding is

A. tan θ = μ

https://dl.doubtnut.com/l/_RQ5fJcdY6H2Q
https://dl.doubtnut.com/l/_bIPkEkv5OSch


B. 

C. 

D. 

Answer: c

Watch Video Solution

tan θ < μ

tan θ > μ

tan θ = 0

156. A body is moving with a constant speed v

in a circle of radius r. its angualr acceleration

is :

https://dl.doubtnut.com/l/_bIPkEkv5OSch
https://dl.doubtnut.com/l/_fpVFtygN8lU7


A. vr

B. 

C. zero

D. 

Answer: c

Watch Video Solution

v

r

v

r3

157. Which one of the following statement is

correct for the following situation 

Assertion : A man in a closed cabin which is

https://dl.doubtnut.com/l/_fpVFtygN8lU7
https://dl.doubtnut.com/l/_4Dc7lzsaqYJh


falling freely does not experience gravitational

force 

Reason: Inertial mass is equal to gravitational

mass

A. assertio is true but reason is false

B. assertion is false but reason is true

C. assertion is true but reason is true and

expalins assertion correctly

D. assertion is true reson is true but does

not explain assertion correctly

https://dl.doubtnut.com/l/_4Dc7lzsaqYJh


Answer: d

Watch Video Solution

158. Select the odd man out from the following

statement

A. centrifugal force is a pseudo force

B. centrifugal force is may be found in

inertial frames

https://dl.doubtnut.com/l/_4Dc7lzsaqYJh
https://dl.doubtnut.com/l/_bpARKZtkJZ91


C. centrifugal force acts away from the

centre of circulators path

D. centrufugal force acts only in rotating

frames

Answer: b

Watch Video Solution

159. When a particle is in uniform motion it

does not have

https://dl.doubtnut.com/l/_bpARKZtkJZ91
https://dl.doubtnut.com/l/_oGlYeLvWLaSI


A. radial velocity and radial acceleation

B. radial velocity and trasverse acceleration

C. transverse velocity and radial

acceleration

D. transverse velcoity and transverse

acceleartion

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_oGlYeLvWLaSI


160. Which of the following pairs is a correct

pair A particle revolves round a circular path

the acceleration of the particle is

A. along the circumference of the circle and

B. along the tangent and v= ar

C. along the radius and 

D. zero and velocity is zero

Answer: c

W h Vid S l i

a =
v2

m

a =
v2

r

https://dl.doubtnut.com/l/_6Y1EzJJAMq5t


Other Important Questions Answers Ii Very Short

Answer Question

Watch Video Solution

1. State aristotelian of motion what is the flaw

in this law ?

View Text Solution

2. State galileo 's law of inertia

Watch Video Solution

https://dl.doubtnut.com/l/_6Y1EzJJAMq5t
https://dl.doubtnut.com/l/_pQ1WXEROF2xk
https://dl.doubtnut.com/l/_DFaXh0rblq98


3. What do you mean by inertia of rest

Watch Video Solution

4. Force and motion acts in the same direction

given example

Watch Video Solution

https://dl.doubtnut.com/l/_DFaXh0rblq98
https://dl.doubtnut.com/l/_mdGz3lUYC9Ve
https://dl.doubtnut.com/l/_QM8VTNNMz9wf


5. Force and moton are in the opposite

direction Given example

Watch Video Solution

6. Prove that second derivative of position

vector is not zero then there must be a force

on the body

Watch Video Solution

https://dl.doubtnut.com/l/_znaHTpg0XnJL
https://dl.doubtnut.com/l/_L00hakbpz173


7. Show that if the force acting on the particle

is zero its momentum remains unchaged

Watch Video Solution

8. Will the momentum remain conserved if

some external force acts on the system

Watch Video Solution

https://dl.doubtnut.com/l/_7OP2TbH0ZTBx
https://dl.doubtnut.com/l/_gWoDP4QJELu6


9. Vechile stop on applying brakes does this

phenomenon violate the principle of

conservation of momentum

Watch Video Solution

10. Define impulse .

Watch Video Solution

https://dl.doubtnut.com/l/_rubLyCPFdgxj
https://dl.doubtnut.com/l/_OgKPUsfSutgX


11. Write the expression for impulse in terms

of average force

Watch Video Solution

12. A bus weighingh 900 kg is at rest on the

bus stand what is the linear momentum of the

bus

Watch Video Solution

https://dl.doubtnut.com/l/_mikdUHOB2x6I
https://dl.doubtnut.com/l/_oxzMQWe4MVAE


13. What is normal force

Watch Video Solution

14. Which is grater  or 

Watch Video Solution

μs μk

15. What is the relation between angle of

friction and angle of repose

Watch Video Solution

https://dl.doubtnut.com/l/_AdWSENdgJX9Z
https://dl.doubtnut.com/l/_80QzzlHuGO7e
https://dl.doubtnut.com/l/_dRSw0wVaAFa0


16. What is the angle between frictional force

and isntantaneous velocity of a body moving

over a rough surface

Watch Video Solution

17. What is the angle between frictional force

and isntantaneous velocity of a body moving

over a rough surface

Watch Video Solution

https://dl.doubtnut.com/l/_dRSw0wVaAFa0
https://dl.doubtnut.com/l/_zUYsgTP5jUCI
https://dl.doubtnut.com/l/_fv8xtuPl1SGt


18. A body is in equilibrium on a rough inclined

plane undr its own weight. If the angle of

inclination of the inclined plane is  and the

angle of friction is , then

Watch Video Solution

α

λ

19. Does the force of friction depends on the

area of contact

Watch Video Solution

https://dl.doubtnut.com/l/_fv8xtuPl1SGt
https://dl.doubtnut.com/l/_RuNKfDG0Ica0
https://dl.doubtnut.com/l/_XloVP99hNMpT


20. It is easier to roll barrel than to pull it

along the road why

Watch Video Solution

21. What is coefficient of static friction?

Watch Video Solution

22. What happens to coefficient of friction

when weight of the body is doubled.

https://dl.doubtnut.com/l/_Is5JZ5A300Gk
https://dl.doubtnut.com/l/_ts0gIfyVVZRM
https://dl.doubtnut.com/l/_XXdIMJ6o7h9L


Watch Video Solution

23. Action and reaction forces do not balance

each other . Why ?

Watch Video Solution

24. Can you cite a situation where no force

acts on a body.

Watch Video Solution

https://dl.doubtnut.com/l/_XXdIMJ6o7h9L
https://dl.doubtnut.com/l/_bzUxFZnFSVzS
https://dl.doubtnut.com/l/_jRuBTiYHilm0
https://dl.doubtnut.com/l/_BTroRwuid8xg


25. What are position dependent forces

Watch Video Solution

26. Does friction occur in liquid and gases.

Watch Video Solution

27. Why is force of limiting friction  greater

than force of kinetic friction .

Watch Video Solution

Fc

Fk

https://dl.doubtnut.com/l/_BTroRwuid8xg
https://dl.doubtnut.com/l/_8x9U0yjekt43
https://dl.doubtnut.com/l/_kEiSl2QNtlVr


28. What is the work done by centripetal force

in moving a body through half cycle on the

circular path of radius 35m

Watch Video Solution

29. Can a body in linear motion be in

equilibrium.

Watch Video Solution

https://dl.doubtnut.com/l/_kEiSl2QNtlVr
https://dl.doubtnut.com/l/_s6PpNhsO6zTP
https://dl.doubtnut.com/l/_mvS3awAOB52Y
https://dl.doubtnut.com/l/_TAJtdyIuZpNk


30. Ten one rupee coins are put on top of each

other on table each coin has a mass 2g what is

the magnitude of the force on the seventh

coin due to all the coins at its top

Watch Video Solution

31. A body is acted upon by a number of

external forces can it remain at rest

Watch Video Solution

https://dl.doubtnut.com/l/_TAJtdyIuZpNk
https://dl.doubtnut.com/l/_6AHjVg7krgiy


32. State Aristotelian law of motion. What is

flaw in this law ?

Watch Video Solution

33. State galileo 's law of inertia

Watch Video Solution

34. What do you mean by inertia of rest

Watch Video Solution

https://dl.doubtnut.com/l/_6KV1u9W2MlyM
https://dl.doubtnut.com/l/_IJZtVikNhKXp
https://dl.doubtnut.com/l/_Sm2SETZcIbKs


35. Force and motion acts in the same

direction given example

Watch Video Solution

36. Force and moton are in the opposite

direction Given example

Watch Video Solution

https://dl.doubtnut.com/l/_Sm2SETZcIbKs
https://dl.doubtnut.com/l/_BBSPM39Fpx7K
https://dl.doubtnut.com/l/_1AWTdQAIDUUa


37. Prove that second derivative of position

vector is not zero then there must be a force

on the body

Watch Video Solution

38. Show that if the force acting on the

particle is zero its momentum remains

unchaged

Watch Video Solution

https://dl.doubtnut.com/l/_c3fQ9Y4B0Lx4
https://dl.doubtnut.com/l/_SInVufCV9NVo
https://dl.doubtnut.com/l/_LKGnmEvBGKi2


39. Will the momentum remain conserved if

some external force acts on the system

Watch Video Solution

40. Vechile stop on applying brakes does this

phenomenon violate the principle of

conservation of momentum

Watch Video Solution

https://dl.doubtnut.com/l/_LKGnmEvBGKi2
https://dl.doubtnut.com/l/_SJKOBGNiYbB4


41. Define impulse .

Watch Video Solution

42. Write the expression for impulse in terms

of average force

Watch Video Solution

43. A bus weighingh 900 kg is at rest on the

bus stand what is the linear momentum of the

https://dl.doubtnut.com/l/_1ipKo24Dw3Xa
https://dl.doubtnut.com/l/_Wou4apWKD9Kh
https://dl.doubtnut.com/l/_VU8yuYh88YZ0


bus

Watch Video Solution

44. NORMAL FORCE

Watch Video Solution

45. Which is grater  or 

Watch Video Solution

μs μk

https://dl.doubtnut.com/l/_VU8yuYh88YZ0
https://dl.doubtnut.com/l/_QxYQXOlSJ0Mt
https://dl.doubtnut.com/l/_GwNwDu1lsMtq
https://dl.doubtnut.com/l/_U6AVya8DcSaK


46. What is the relation between angle of

friction and angle of repose

Watch Video Solution

47. What is the angle between frictional force

and isntantaneous velocity of a body moving

over a rough surface

Watch Video Solution

https://dl.doubtnut.com/l/_U6AVya8DcSaK
https://dl.doubtnut.com/l/_st1OBAO1ZTtY


48. What is the angle between frictional force

and isntantaneous velocity of a body moving

over a rough surface

Watch Video Solution

49. A body is just sliding dwon an inclined

plane due to its own weight what is the

relation between angle of inclination and

angle of repose

View Text Solution

https://dl.doubtnut.com/l/_YXA1kDaHQvEE
https://dl.doubtnut.com/l/_v08Q4cc4GGCd


50. Does the force of friction depends on the

area of contact

Watch Video Solution

51. It is easier to roll barrel than to pull it

along the road why

Watch Video Solution

https://dl.doubtnut.com/l/_v08Q4cc4GGCd
https://dl.doubtnut.com/l/_Oy0QI7hTvpyr
https://dl.doubtnut.com/l/_6iJILEc7y8gP


52. What is coefficient of static friction?

Watch Video Solution

53. What happens to coefficient of friction

when weight of the body is doubled.

Watch Video Solution

54. Action and reaction forces do not balance

each other . Why ?

https://dl.doubtnut.com/l/_WmfOvYlYUdWN
https://dl.doubtnut.com/l/_wLmNXilHaQeF
https://dl.doubtnut.com/l/_3o5jtmWK1nTP


Watch Video Solution

55. Can you cite a situation where no force

acts on a body.

Watch Video Solution

56. What are position dependent forces

Watch Video Solution

https://dl.doubtnut.com/l/_3o5jtmWK1nTP
https://dl.doubtnut.com/l/_w4bsFvmsCTuz
https://dl.doubtnut.com/l/_kxnIZtPKMreo


57. Does friction occur in liquid and gases.

Watch Video Solution

58. Why is force of limiting friction  greater

than force of kinetic friction .

Watch Video Solution

Fc

Fk

59. What is the work done by centripetal force

in moving a body through half cycle on the

https://dl.doubtnut.com/l/_RHYwDAi3Wqrq
https://dl.doubtnut.com/l/_YNFICRvL3Whm
https://dl.doubtnut.com/l/_qN5jymdxbVXz


circular path of radius 35m

Watch Video Solution

60. Can a body in linear motion be in

equilibrium.

Watch Video Solution

61. Ten one rupee coins are put on top of each

other on table each coin has a mass 2g what is

https://dl.doubtnut.com/l/_qN5jymdxbVXz
https://dl.doubtnut.com/l/_6bhmQHos3efL
https://dl.doubtnut.com/l/_YCQKg9INWnhd


Other Important Questions Answers Iii Short

Answer Question

the magnitude of the force on the seventh

coin due to all the coins at its top

Watch Video Solution

62. A body is acted upon by a number of

external forces can it remain at rest

Watch Video Solution

https://dl.doubtnut.com/l/_YCQKg9INWnhd
https://dl.doubtnut.com/l/_zXiug4XzjaYp
https://dl.doubtnut.com/l/_zWuqwyAijhi5


1. What do you mean by inertia of motion?

Give one example

Watch Video Solution

2. What do you mean by inertia of direction?

Give one example.

Watch Video Solution

https://dl.doubtnut.com/l/_zWuqwyAijhi5
https://dl.doubtnut.com/l/_ovdIPIf95whF


3. What is non inertial frame of reference?

Explain with example.

Watch Video Solution

4. With an example explaion a situatin where

force and motion are not in the same

direction

Watch Video Solution

https://dl.doubtnut.com/l/_nQRAw1KQKPzQ
https://dl.doubtnut.com/l/_C0G4POQ2dlaI


5. Explain the motion of a raindrop from a

cloud

Watch Video Solution

6. When a cricket player catches the ball he

pulls his hand gradually in the direction of the

ball 's motion given reason

Watch Video Solution

https://dl.doubtnut.com/l/_5eAaPPbyyUMe
https://dl.doubtnut.com/l/_CqwXFcFvEGgu


7. Explain the use of air bags in cars during

accidents.

Watch Video Solution

8. An athlete runs a certain distance before

taking a long jump . Why ?

Watch Video Solution

https://dl.doubtnut.com/l/_gaSlzZfGLgRT
https://dl.doubtnut.com/l/_RSUHW1rNwkRO


9. Automobiles are provided with shock

absorbers why

Watch Video Solution

10. Jumping on a cemented floor receives more

injuries than on the sand given reason

Watch Video Solution

11. Explain the term maximal static friction

https://dl.doubtnut.com/l/_RJCHiC6Bivrh
https://dl.doubtnut.com/l/_Xb7FB72FU54L
https://dl.doubtnut.com/l/_DCgdnqUs6n6N


Watch Video Solution

12. Given reason if he object is pressed hard on

the surface where it is placed as result it is

more difficult to move the object

Watch Video Solution

13. What is the angle of friction between two

surfaces in contact if the coefficient of friction

is 
1

√3

https://dl.doubtnut.com/l/_DCgdnqUs6n6N
https://dl.doubtnut.com/l/_q0w6Kc7KNwKe
https://dl.doubtnut.com/l/_ojXd0F8oVIUz


Watch Video Solution

14. Define angle of friction

Watch Video Solution

15. Given reasons for 

View Text Solution

fs = μsN

16. What is the need of banking a circular raod

https://dl.doubtnut.com/l/_ojXd0F8oVIUz
https://dl.doubtnut.com/l/_elBn7tXCzLrx
https://dl.doubtnut.com/l/_HtZadxf3AG0r
https://dl.doubtnut.com/l/_LOetfrk23mV1


Watch Video Solution

17. How does the use of ball bearing reduces

friction

Watch Video Solution

18. When a bicycle moves in the forward

direction what is the direction of the frictional

force in the rear and front wheels

Watch Video Solution

https://dl.doubtnut.com/l/_LOetfrk23mV1
https://dl.doubtnut.com/l/_eJfHLiyjZ9xd
https://dl.doubtnut.com/l/_aor8K1L54req


19. A force can change the velocity of a particle

in three different ways explain with example

Watch Video Solution

20. Derive the expression for centripetal

acceleration.

Watch Video Solution

https://dl.doubtnut.com/l/_VR9syrVq6RjJ
https://dl.doubtnut.com/l/_WbBuLqtTXxZe


21. Explain centrifugal force due to rotation of

the earth

Watch Video Solution

22. What do you mean by inertia of motion?

Give one example

Watch Video Solution

https://dl.doubtnut.com/l/_YWkKC75hJl9C
https://dl.doubtnut.com/l/_pBDkzVa1mZGU


23. What do you mean by inertia of direction?

Give one example.

Watch Video Solution

24. What is non inertial frame of reference?

Explain with example.

Watch Video Solution

https://dl.doubtnut.com/l/_Nilz9c8lqKzV
https://dl.doubtnut.com/l/_U6wlSR8t16sv


25. With an example explaion a situatin where

force and motion are not in the same

direction

Watch Video Solution

26. Explain the motion of a raindrop from a

cloud

Watch Video Solution

https://dl.doubtnut.com/l/_rKSJ0kqE9fB0
https://dl.doubtnut.com/l/_QHZNk2vnDOd4


27. When a cricket player catches the ball he

pulls his hand gradually in the direction of the

ball 's motion given reason

Watch Video Solution

28. Explain the use of air bags in cars during

accidents.

Watch Video Solution

https://dl.doubtnut.com/l/_YII6FXk1wXPY
https://dl.doubtnut.com/l/_3TYfrNQSyudz


29. An athlete runs a certain distance before

taking a long jump . Why ?

Watch Video Solution

30. Automobiles are provided with shock

absorbers why

Watch Video Solution

https://dl.doubtnut.com/l/_NfOzl9phAG7t
https://dl.doubtnut.com/l/_pEevClZXMrqt


31. Jumping on a cemented floor receives more

injuries than on the sand given reason

Watch Video Solution

32. Explain the term maximal static friction

Watch Video Solution

33. Given reason if he object is pressed hard

on the surface where it is placed as result it is

https://dl.doubtnut.com/l/_EMXzWpcq8H2X
https://dl.doubtnut.com/l/_etleo9dxdm3I
https://dl.doubtnut.com/l/_oCGCMe4Gqht2


more difficult to move the object

Watch Video Solution

34. What is the angle of friction between two

surfaces in contact if the coefficient of friction

is 

Watch Video Solution

1

√3

35. Define angle of friction

Watch Video Solution

https://dl.doubtnut.com/l/_oCGCMe4Gqht2
https://dl.doubtnut.com/l/_Mspe9IbG9gNv
https://dl.doubtnut.com/l/_SyWZjgGhmr1t


36. Given reasons for 

View Text Solution

fs = μsN

37. What is the need of banking a circular raod

Watch Video Solution

38. How does the use of ball bearing reduces

friction

https://dl.doubtnut.com/l/_SyWZjgGhmr1t
https://dl.doubtnut.com/l/_OcpHV36NVKaV
https://dl.doubtnut.com/l/_JTOAK8l3NOFL
https://dl.doubtnut.com/l/_whHHeAZRV2eu


Watch Video Solution

39. When a bicycle moves in the forward

direction what is the direction of the frictional

force in the rear and front wheels

Watch Video Solution

40. A force can change the velocity of a

particle in three different ways explain with

example

https://dl.doubtnut.com/l/_whHHeAZRV2eu
https://dl.doubtnut.com/l/_njBDx1npQa2F
https://dl.doubtnut.com/l/_ZaBa48EBFo0R


Watch Video Solution

41. Derive the expression for centripetal

acceleration.

Watch Video Solution

42. Explain centrifugal force due to rotation of

the earth

Watch Video Solution

https://dl.doubtnut.com/l/_ZaBa48EBFo0R
https://dl.doubtnut.com/l/_NTEea3wlcwSV
https://dl.doubtnut.com/l/_hPtiUo6WdSff


Other Important Questions Answers Iv Long

Answer Question

1. Describe galileo experiments concerning

motion of object on inclined planes 

https://dl.doubtnut.com/l/_aOQGZOThtHCj


 

 

galileo 's experiment with the second plane (a)

at same inclination angle as the first (b) with

https://dl.doubtnut.com/l/_aOQGZOThtHCj


increased smoothness (c ) with reduced angle

of inclination (d) with zero angle of inclination

Watch Video Solution

2. Explain with example how earth can be

treated as both inertial and non inertial frame

of reference

View Text Solution

https://dl.doubtnut.com/l/_aOQGZOThtHCj
https://dl.doubtnut.com/l/_vCtzeTMck4Ch


3. Write a note on aristotle vs newton's

approach on sliding object 

Appraoch of aristotle on sliding object

Watch Video Solution

4. Express newton second law of motion in

component form given its significance

View Text Solution

https://dl.doubtnut.com/l/_OeqLLsSld1Ca
https://dl.doubtnut.com/l/_1l4YlZCHd3gy


5. For the same force heavier mass experience

lesser acceleration explain

Watch Video Solution

6. Using newton 's laws calculate the tension

acting on the mango haging from a tree

Watch Video Solution

https://dl.doubtnut.com/l/_CUsfDaoa3Uzi
https://dl.doubtnut.com/l/_eS04kIYY9NN0


7. Briefly explain how is a horse able to pull a

cart

Watch Video Solution

8. Explain the meaning of law of conservation

of linear momentum

Watch Video Solution

9. Prove impulse momentum equation

https://dl.doubtnut.com/l/_80dK49gI0AVV
https://dl.doubtnut.com/l/_X8h5eN69O2s3
https://dl.doubtnut.com/l/_W80sHI2wvudK


Watch Video Solution

10. Show how impulse force can be measured

graphically

Watch Video Solution

11. What happens to the object at rest if (i)

Watch Video Solution

fs = 0(ii)fs = fext(iii)fs = max

https://dl.doubtnut.com/l/_W80sHI2wvudK
https://dl.doubtnut.com/l/_yVC4VmB7VnPe
https://dl.doubtnut.com/l/_VjhuuuOs52ci
https://dl.doubtnut.com/l/_qkZVKLS8Cz3C


12. Draw and explain the variations of force of

friction vs applied force graphically

Watch Video Solution

13. List and explain any two application of

angle of repose

View Text Solution

https://dl.doubtnut.com/l/_qkZVKLS8Cz3C
https://dl.doubtnut.com/l/_CInQnz3lRcU6


14. With an activity prove that coefficent of

static friction vaies from object to object

View Text Solution

15. Derive an expression for the acceleartion of

the body sliding down a frictionless surface

View Text Solution

https://dl.doubtnut.com/l/_2hwKOXEIpobO
https://dl.doubtnut.com/l/_CvZZGtNKCAhI


16. Tow masses  and  are in

contact with each other on a smooth

horizontal surface calculate the magnitude of

contact force between them

View Text Solution

m1 m2(m1 > m2)

17. Briefly explain how is a vehicle able to go

round a leveled curved track determine the

maximum speed with which the vehicle can

negotiate this curved track safely

https://dl.doubtnut.com/l/_mTVwhipP0HEU
https://dl.doubtnut.com/l/_e7JZZJCVUuUx


View Text Solution

18. Determine the angle of banking so as to

minimize the wear and tear of the tyres of car

negotiating a banked curve

Watch Video Solution

19. Describe galileo experiments concerning

motion of object on inclined planes 

https://dl.doubtnut.com/l/_e7JZZJCVUuUx
https://dl.doubtnut.com/l/_Uk6OevFyqRR5
https://dl.doubtnut.com/l/_og8nNiUwxCCZ


 

 

galileo 's experiment with the second plane (a)

at same inclination angle as the first (b) with

https://dl.doubtnut.com/l/_og8nNiUwxCCZ


increased smoothness (c ) with reduced angle

of inclination (d) with zero angle of inclination

View Text Solution

20. Explain with example how earth can be

treated as both inertial and non inertial frame

of reference

View Text Solution

https://dl.doubtnut.com/l/_og8nNiUwxCCZ
https://dl.doubtnut.com/l/_sd5Vk4bRuy4Q


21. Write a note on aristotle vs newton's

approach on sliding object 

Appraoch of aristotle on sliding object

Watch Video Solution

22. Express Newton's second law of motion in

component form. Give its significance.

Watch Video Solution

https://dl.doubtnut.com/l/_QAUQtv6jqbZw
https://dl.doubtnut.com/l/_6czgjDyUFafi


23. For the same force heavier mass

experience lesser acceleration explain

Watch Video Solution

24. Using newton 's laws calculate the tension

acting on the mango haging from a tree

Watch Video Solution

https://dl.doubtnut.com/l/_huAYQYraJ30w
https://dl.doubtnut.com/l/_Dvh6tUNNjVx5


25. Briefly explain how is a horse able to pull a

cart

Watch Video Solution

26. Explain the meaning of law of conservation

of linear momentum

Watch Video Solution

27. Prove impulse momentum equation

https://dl.doubtnut.com/l/_g6s48G7WPBeX
https://dl.doubtnut.com/l/_tA466NXWT9oR
https://dl.doubtnut.com/l/_7k6hPKfGzyed


Watch Video Solution

28. Show how impulse force can be measured

graphically

Watch Video Solution

29. What happens to the object at rest if (i)

Watch Video Solution

fs = 0(ii)fs = fext(iii)fs = max

https://dl.doubtnut.com/l/_7k6hPKfGzyed
https://dl.doubtnut.com/l/_8Ubf5mPOraUP
https://dl.doubtnut.com/l/_rMD0GqheMapA
https://dl.doubtnut.com/l/_1qIjLXCn3DF4


30. Draw and explain the variations of force of

friction vs applied force graphically

Watch Video Solution

31. List and explain any two application of

angle of repose

View Text Solution

https://dl.doubtnut.com/l/_1qIjLXCn3DF4
https://dl.doubtnut.com/l/_HE7gUvK0j7s9


32. With an activity prove that coefficent of

static friction vaies from object to object

View Text Solution

33. Derive an expression for the acceleartion of

the body sliding down a frictionless surface

Watch Video Solution

https://dl.doubtnut.com/l/_CkKl1j6ravNC
https://dl.doubtnut.com/l/_aW13ytrEQTTK


34. Two blocks of masses  and 

 in contact with each other on

frictionless, horizontal surface. If a horizontal

force F is given on  set into motion with

acceleration a, then reaction force on mass 

by  is

Watch Video Solution

m1

m2(m1 > m2)

m1

m1

m2

35. Briefly explain how is a vehicle able to go

round a leveled curved track determine the

https://dl.doubtnut.com/l/_gBaB6R17bswz
https://dl.doubtnut.com/l/_dyMjOJsJzrrd


Other Important Questions Answers V

Conceptual Question

maximum speed with which the vehicle can

negotiate this curved track safely

Watch Video Solution

36. Determine the angle of banking so as to

minimize the wear and tear of the tyres of car

negotiating a banked curve

Watch Video Solution

https://dl.doubtnut.com/l/_dyMjOJsJzrrd
https://dl.doubtnut.com/l/_VGVWFpGpJXPx


1. Why is it necessary to bend kness while

jumping from greater height

Watch Video Solution

2. Automobile tyres are generally provied with

irregualr projection over their surfaces why

Watch Video Solution

https://dl.doubtnut.com/l/_Upm4VzLcvf1a
https://dl.doubtnut.com/l/_E9DiycldutqL


3. Why are wheels of automobile made circular

Watch Video Solution

4. Proper inflation of typres of vehicles saves

fuel given reason

Watch Video Solution

5. In a tug of war the team that pushes harder

against the ground wins why

https://dl.doubtnut.com/l/_J1ywukKbZdIm
https://dl.doubtnut.com/l/_imRXmKbiccpu
https://dl.doubtnut.com/l/_TncHrPfgXTcu


Watch Video Solution

6. A man is at rest in the middle of a pond on

perfectly frictonless ice how can he get himself

to the shore

Watch Video Solution

7. Why horse has to pull a cart harder during

the first few steps of his motion

Watch Video Solution

https://dl.doubtnut.com/l/_TncHrPfgXTcu
https://dl.doubtnut.com/l/_btfPbycLXaCK
https://dl.doubtnut.com/l/_qVg78Tvk9ayR


8. Why do the blades of an electric fan

continue to ratate for some time after the

current is switched off

Watch Video Solution

9. Why is it necessary to bend kness while

jumping from greater height

Watch Video Solution

https://dl.doubtnut.com/l/_qVg78Tvk9ayR
https://dl.doubtnut.com/l/_zIO8hzGHnpP8
https://dl.doubtnut.com/l/_zbVfrAMmHnmH
https://dl.doubtnut.com/l/_1LnC72Wbhkli


10. Automobile tyres are generally provied

with irregualr projection over their surfaces

why

Watch Video Solution

11. Why are wheels of automobile made

circular

Watch Video Solution

https://dl.doubtnut.com/l/_1LnC72Wbhkli
https://dl.doubtnut.com/l/_qVH9IYOF7aC8


12. Proper inflation of typres of vehicles saves

fuel given reason

Watch Video Solution

13. In a tug of war the team that pushes

harder against the ground wins why

Watch Video Solution

https://dl.doubtnut.com/l/_xkvto1iVOqdp
https://dl.doubtnut.com/l/_8VKXzQNBPXAt


14. A man is at rest in the middle of a pond on

perfectly frictonless ice how can he get himself

to the shore

Watch Video Solution

15. Why horse has to pull a cart harder during

the first few steps of his motion

Watch Video Solution

https://dl.doubtnut.com/l/_hJJoaZF2udn3
https://dl.doubtnut.com/l/_VZFrAI8cnsxq


Other Important Questions Answers Vi

Numerical Problems

16. Why do the blades of an electric fan

continue to ratate for some time after the

current is switched off

Watch Video Solution

1. A scooterist moving with a speed of

 sees a child standing in the

middle of the raod he applies the brakes and

36mkmh − 1

https://dl.doubtnut.com/l/_of8dg6fAXdND
https://dl.doubtnut.com/l/_IEfNISbYD99t


brings the scooter to rest in 5s just in time to

saved child calculate the average retarding

force on the vehicle if mass of the vehicle and

drive is 300 kg

Watch Video Solution

2. A bus starts from rest accelerating

uniformly with  at t =10s a stone is

dropped out of a window of the bus 2m high

what are the (i) magnitude of velocity and (ii)

4ms − 1

https://dl.doubtnut.com/l/_IEfNISbYD99t
https://dl.doubtnut.com/l/_WaAVVZekrtDI


accelearatio of the stone at 10.2 s take g=10

Watch Video Solution

ms − 2

3. Force of  and  N are acting on a

body of mass 1000 kg at an angle  to each

other calculate (i) acceeration velocity and (ii)

distcne coverd by other body after 10s

Watch Video Solution

5√2 6√2

60∘

https://dl.doubtnut.com/l/_WaAVVZekrtDI
https://dl.doubtnut.com/l/_riW71nXJFhs3


4. A ball of mass 150g moving with a velocity of

15  brought to rest by a player in 0.05 s

calculate the impulse and the average forfe

exerted by the playeer

Watch Video Solution

ms − 1

5. A machine gun fires a bullet of mass 40 g

with a speed of 1200  the person

holding the gun can exert a maximum force

ms − 1

https://dl.doubtnut.com/l/_g4zIGaBqxzBZ
https://dl.doubtnut.com/l/_E8z8mcW6QmDF


144 N on it what is the number of bullets that

can be fired from the gun per second

Watch Video Solution

6. A ball moving with a momentum of

 strikes against a wall at an angle of 

 and is reflected at the same angle

calculate the angle in momentum

Watch Video Solution

5kgms − 1

45∘

https://dl.doubtnut.com/l/_E8z8mcW6QmDF
https://dl.doubtnut.com/l/_itK5y16VjppN


7. A force 

produces acceleartion of  in a body

calculate the mass of the body

Watch Video Solution

→
F = (6

→
i − 8

→
j + 10k)N

1
m

s2

8. A block of mass 5kg resting on a frictionless

plane it is stuck by a jet releasing water at a

rate of 3 kg /s at speed of 4 m/s calculate the

initial acceleartion of the block

Watch Video Solution

https://dl.doubtnut.com/l/_ZwBPMsS8YzD0
https://dl.doubtnut.com/l/_2yaGQNCabpYU


9. The initial speed of a body of mass 2.0 kg is

 a force fro 4s in the direction of

motion of the body the force time graph is

shown in the diagram calculate the impulse of

the force and the final speed of the body

Watch Video Solution

5.0ms − 1

10. A ball of mass 0.20 kg hits a wall at an

angle of  with a velocity of 25 m/s if the

ball rebound at  to the direction of

45∘

90∘

https://dl.doubtnut.com/l/_2yaGQNCabpYU
https://dl.doubtnut.com/l/_F9TafTAZ1gWL
https://dl.doubtnut.com/l/_tcrMMa2GvXBw


incidence calculate the change in momentum

of the ball.

Watch Video Solution

11. The diagram shows an estimeated force

time graph for a baseball struck by a bat 

Watch Video Solution

https://dl.doubtnut.com/l/_tcrMMa2GvXBw
https://dl.doubtnut.com/l/_TaTFpT9EJpxp


12. A machine gun can fire 50g bullets with a

velocity of  A 80 kg tiger springs at

him with a velocity of  how many

bullets must be fired in to the tiger in order to

stop him in track

Watch Video Solution

150ms − 1

200ms − 1

13. A bullet of mass 100 g is fired by a gun of 10

kg with a speed of 2000 m/s find recoil velocity

of gun

https://dl.doubtnut.com/l/_TaTFpT9EJpxp
https://dl.doubtnut.com/l/_BCecrOja0bsH
https://dl.doubtnut.com/l/_aASgAl7JQ2iZ


Watch Video Solution

14. A neutron having a mass  kg

and moving at  collides with a

deuteron at rest and sticks to it if the mass of

deuteron is  kg find the speed of

the combination

Watch Video Solution

1.67 × 10− 27

108ms − 1

3.34 × 10− 27

https://dl.doubtnut.com/l/_aASgAl7JQ2iZ
https://dl.doubtnut.com/l/_b4gptpsJnqYi


15. A mass of 6kg is suspended by a rope of

length 2m from a celling a force of 50N in the

horizontal direction is applied at the midpoint

of the rope as shown in the figure what is the

angle the rope makes with the vertical is

equalibrium take  neglect massg = 10ms − 2

https://dl.doubtnut.com/l/_zKnZWrv02wWk


of the rope 

Watch Video Solution

16. The system is in equilibrium if the spring

balance is calibrated in newton what does it

https://dl.doubtnut.com/l/_zKnZWrv02wWk
https://dl.doubtnut.com/l/_jodbTSp1SLBj


record in each case 

 

Watch Video Solution

https://dl.doubtnut.com/l/_jodbTSp1SLBj


17. Determine the tension  and  in the

strings 

T1 T2

https://dl.doubtnut.com/l/_jodbTSp1SLBj
https://dl.doubtnut.com/l/_QGPNAhNrYOUQ


Watch Video Solution

https://dl.doubtnut.com/l/_QGPNAhNrYOUQ


18. A ball of mass 1 kg hangs in equlibrium

from two stings OA and OB in the diagram

calcualte the tensions in stings OA and OB

take  


Watch Video Solution

g = 10ms − 2

https://dl.doubtnut.com/l/_PRnv9hWDEmJP


19. A hunter has a machine gun that can fire 50

g bullets with a velocity of . A 60 kg

tiger springs at him with a velocity 

how many bullets must the hunter fire in to

the tiger in order to stop him in his track

Watch Video Solution

150ms − 1

10ms − 1

20. As in the diagram three blocks connected

together lie on a horizontal frictionless table

and pulled to the right with a force F=50 N if

https://dl.doubtnut.com/l/_IV8KCCNrGzak
https://dl.doubtnut.com/l/_EWwVuMV1I1OM


 kg and  find

the tensions  and  

Watch Video Solution

m1 = 5kgm2 = 10 m3 = 15kg

T1 T2

21. As shown in the diagram three masssesm

3m and 5m connected together lie on a

frictionless horizontal surface and pulled to

the left by a force f the tension  in the first

sting is 24 N find 

T1

https://dl.doubtnut.com/l/_EWwVuMV1I1OM
https://dl.doubtnut.com/l/_oh6pOKnJSBcP


 


(i) acceleartion of the system 

(ii) tension in the second string and 

(iii) force f

Watch Video Solution

22. A force of 49N is just sufficient to pull a

block of wookd weighing 10 kg on a rough

horizontal surface calculate the coefficient of

friction and angle of friction

https://dl.doubtnut.com/l/_oh6pOKnJSBcP
https://dl.doubtnut.com/l/_okJ5yHg9LdgU


Watch Video Solution

23. A mass of 4kg rests on a horizontal plane

the plane is gradually inclined unitl at an

angle =15 with the horizontal the mass just

begins to slide what is the coefficient of static

friction bwtween the block and the surface

Watch Video Solution

24. Determine the maximum acceleration of

the train in which a box lying on its floor will

https://dl.doubtnut.com/l/_okJ5yHg9LdgU
https://dl.doubtnut.com/l/_CPMEwJySrDUw
https://dl.doubtnut.com/l/_Al41cSZLXVE0


remain stationary given that the coefficeient

of static friction between the box and the

train 's floor is 0.15 take 

Watch Video Solution

g = 10ms − 2

25. A block of mass 2 kg rests on a plane

inclined at an angle of  with the horizontal

the coefficient of friction between the block

and the surface is 0.7 what will be the

frictional force acting on the block

Watch Video Solution

30∘

https://dl.doubtnut.com/l/_Al41cSZLXVE0
https://dl.doubtnut.com/l/_16KImRkFSNdC


26. A sting breaks under a load of 4.8 kg A

mass of 0.5 kg is attached to one end to the

string 2m along and is ratated in a horizontal

circle caculate the greatest number of

revolutions that the mass can make without

breaking the string

Watch Video Solution

27. A stone of mass 1kg is whirled in a circular

path of radius 1m find out the tension in the

https://dl.doubtnut.com/l/_16KImRkFSNdC
https://dl.doubtnut.com/l/_XBYFh1ktyB0L
https://dl.doubtnut.com/l/_FrJoLYac6xLa


string if the linear velocity is 10 m/s

Watch Video Solution

28. In a circus the diameter of the globe of

depth is 20 m calculate the minimum height

must a cyclist start in order to go round the

globe successfully

Watch Video Solution

https://dl.doubtnut.com/l/_FrJoLYac6xLa
https://dl.doubtnut.com/l/_vaH0fef4gQTe


29. A bend in a level road has radius of 100

mtrs find the maximum speed which a car

turning this bend may have without skidding if

the coefficent of friction between the typres

and raod is 0.8 , will be

Watch Video Solution

30. A car is travelling at 30 km/ h in a circle of

radius 60 m what is the minimum value of 

for the car to make the turn without skidding

μs

https://dl.doubtnut.com/l/_m1WF4BSU4nC2
https://dl.doubtnut.com/l/_8xa7M7lWHbal


Watch Video Solution

31. A car of mass 1500 kg is moving with a

speed of  on a circular path of

radius 20 m on a level raod what should be

the frictional force between the car and the

raod so that the car does not slip what should

be the value of the coefficent of friction to

attain this force

Watch Video Solution

12.5ms − 1

https://dl.doubtnut.com/l/_8xa7M7lWHbal
https://dl.doubtnut.com/l/_oGaiaWLylGwk


32. A scooterist moving with a speed of

 sees a child standing in the

middle of the raod he applies the brakes and

brings the scooter to rest in 5s just in time to

saved child calculate the average retarding

force on the vehicle if mass of the vehicle and

drive is 300 kg

Watch Video Solution

36mkmh − 1

https://dl.doubtnut.com/l/_ViuRctCdTDVU


33. A bus starts from rest accelerating

uniformly with  at t =10s a stone is

dropped out of a window of the bus 2m high

what are the (i) magnitude of velocity and (ii)

accelearatio of the stone at 10.2 s take g=10

Watch Video Solution

4ms − 1

ms − 2

34. Force of  and  N are acting on a

body of mass 1000 kg at an angle  to each

5√2 6√2

60∘

https://dl.doubtnut.com/l/_CuZ7Gu7QXZ6C
https://dl.doubtnut.com/l/_kIdiwHAo8JlZ


other calculate (i) acceeration velocity and (ii)

distcne coverd by other body after 10s

Watch Video Solution

35. A ball of mass 150g moving with a velocity

of 15  brought to rest by a player in 0.05

s calculate the impulse and the average forfe

exerted by the playeer

Watch Video Solution

ms − 1

https://dl.doubtnut.com/l/_kIdiwHAo8JlZ
https://dl.doubtnut.com/l/_KhKnP4wzkqFM


36. A machine gun fires a bullet of mass 40 g

with a speed of 1200  the person

holding the gun can exert a maximum force

144 N on it what is the number of bullets that

can be fired from the gun per second

Watch Video Solution

ms − 1

37. A ball moving with a momentum of

 strikes against a wall at an angle of 5kgms − 1

https://dl.doubtnut.com/l/_oMjrjkcnLPmG
https://dl.doubtnut.com/l/_Yo1aFIUQzBzB


 and is reflected at the same angle

calculate the change in momentum

Watch Video Solution

45∘

38. A force 

produces acceleartion of  in a body

calculate the mass of the body

Watch Video Solution

→
F = (6

→
i − 8

→
j + 10k)N

1
m

s2

https://dl.doubtnut.com/l/_Yo1aFIUQzBzB
https://dl.doubtnut.com/l/_XQuc8Ds1J25n


39. A block of mass 5kg resting on a

frictionless plane it is stuck by a jet releasing

water at a rate of 3 kg /s at speed of 4 m/s

calculate the initial acceleartion of the block

Watch Video Solution

40. The initial speed of a body of mass 2.0 kg is

 a force fro 4s in the direction of

motion of the body the force time graph is

5.0ms − 1

https://dl.doubtnut.com/l/_CFBlZX8dTFME
https://dl.doubtnut.com/l/_K0YmJIfR097d


shown in the diagram calculate the impulse of

the force and the final speed of the body

Watch Video Solution

41. A ball of mass 0.20 kg hits a wall at an

angle of  with a velocity of 25 m/s if the

ball rebound at  to the direction of

incidence calculate the change in momentum

of the ball.

Watch Video Solution

45∘

90∘

https://dl.doubtnut.com/l/_K0YmJIfR097d
https://dl.doubtnut.com/l/_RTm6UBn56bqG
https://dl.doubtnut.com/l/_gr71CNHlnz1h


42. The diagram shows an estimeated force

time graph for a baseball struck by a bat 

Watch Video Solution

43. A machine gun can fire 50g bullets with a

velocity of  A 80 kg tiger springs at

him with a velocity of  how many

200ms − 1

200ms − 1

https://dl.doubtnut.com/l/_gr71CNHlnz1h
https://dl.doubtnut.com/l/_8fubR05C9o9Q


bullets must be fired in to the tiger in order to

stop him in track

Watch Video Solution

44. A bullet of mass 100 g is fired by a gun of

10 kg with a speed of 2000 m/s find recoil

velocity of gun

Watch Video Solution

https://dl.doubtnut.com/l/_8fubR05C9o9Q
https://dl.doubtnut.com/l/_m3JFBOMF6GGp


45. A neutron having a mass  kg

and moving at  collides with a

deuteron at rest and sticks to it if the mass of

deuteron is  kg find the speed of

the combination

Watch Video Solution

1.67 × 10− 27

108ms − 1

3.34 × 10− 27

46. A mass of 6kg is suspended by a rope of

length 2m from a celling a force of 50N in the

horizontal direction is applied at the midpoint

https://dl.doubtnut.com/l/_a2BPKMi7UGm4
https://dl.doubtnut.com/l/_T6oVOdGZfPyd


of the rope as shown in the figure what is the

angle the rope makes with the vertical is

equalibrium take  neglect mass

of the rope 

Watch Video Solution

g = 10ms − 2

https://dl.doubtnut.com/l/_T6oVOdGZfPyd
https://dl.doubtnut.com/l/_S1Z5G4F0CZVU


47. Match the following : 

Watch Video Solution

48. Determine the tension  and  in the

strings 

T1 T2

https://dl.doubtnut.com/l/_S1Z5G4F0CZVU
https://dl.doubtnut.com/l/_G4pxRPGVsTzA


Watch Video Solution

https://dl.doubtnut.com/l/_G4pxRPGVsTzA


49. A ball of mass 1 kg hangs in equlibrium

from two stings OA and OB in the diagram

calcualte the tensions in stings OA and OB

take  


Watch Video Solution

g = 10ms − 2

https://dl.doubtnut.com/l/_j1STCIpXtxD8


50. A hunter has a machine gun that can fire

50 g bullets with a velocity of . A 60

kg tiger springs at him with a velocity 

how many bullets must the hunter fire in to

the tiger in order to stop him in his track

Watch Video Solution

150ms − 1

10ms − 1

51. As in the diagram three blocks connected

together lie on a horizontal frictionless table

and pulled to the right with a force F=50 N if

https://dl.doubtnut.com/l/_6UoconEbBQLl
https://dl.doubtnut.com/l/_YXRefwWlOsTw


 kg and  find

the tensions  and  

Watch Video Solution

m1 = 5kgm2 = 10 m3 = 15kg

T1 T2

52. As shown in the diagram three masssesm

3m and 5m connected together lie on a

frictionless horizontal surface and pulled to

the left by a force f the tension  in the first

sting is 24 N find 

T1

https://dl.doubtnut.com/l/_YXRefwWlOsTw
https://dl.doubtnut.com/l/_s1OKCwgpnNZM


 


(i) acceleartion of the system 

(ii) tension in the second string and 

(iii) force f

Watch Video Solution

53. A force of 49N is just sufficient to pull a

block of wookd weighing 10 kg on a rough

horizontal surface calculate the coefficient of

friction and angle of friction

https://dl.doubtnut.com/l/_s1OKCwgpnNZM
https://dl.doubtnut.com/l/_whelYoC33ZWd


Watch Video Solution

54. A mass of 4kg rests on a horizontal plane

the plane is gradually inclined unitl at an

angle =15 with the horizontal the mass just

begins to slide what is the coefficient of static

friction bwtween the block and the surface

Watch Video Solution

55. Determine the maximum acceleration of

the train in which a box lying on its floor will

https://dl.doubtnut.com/l/_whelYoC33ZWd
https://dl.doubtnut.com/l/_jZwyIu1jyAJh
https://dl.doubtnut.com/l/_00IDDANjef1s


remain stationary given that the coefficeient

of static friction between the box and the

train 's floor is 0.15 take 

Watch Video Solution

g = 10ms − 2

56. A block of mass 2 kg rests on a plane

inclined at an angle of  with the horizontal

the coefficient of friction between the block

and the surface is 0.7 what will be the

frictional force acting on the block

Watch Video Solution

30∘

https://dl.doubtnut.com/l/_00IDDANjef1s
https://dl.doubtnut.com/l/_Uz1dne3h2D9M


57. A sting breaks under a load of 4.8 kg A

mass of 0.5 kg is attached to one end to the

string 2m along and is ratated in a horizontal

circle caculate the greatest number of

revolutions that the mass can make without

breaking the string

Watch Video Solution

58. A stone of mass 1kg is whirled in a circular

path of radius 1m find out the tension in the

https://dl.doubtnut.com/l/_Uz1dne3h2D9M
https://dl.doubtnut.com/l/_RS1O0ZXuml8P
https://dl.doubtnut.com/l/_1WYiuaxbQ3IQ


string if the linear velocity is 10 m/s

Watch Video Solution

59. In a circus the diameter of the globe of

depth is 20 m calculate the minimum height

must a cyclist start in order to go round the

globe successfully

Watch Video Solution

https://dl.doubtnut.com/l/_1WYiuaxbQ3IQ
https://dl.doubtnut.com/l/_AFA6BEP8cDEm


60. A bend in a level road has radius of 100

mtrs find the maximum speed which a car

turning this bend may have without skidding if

the coefficent of friction between the typres

and raod is 0.8 , will be

Watch Video Solution

61. A car is travelling at 30 km/ h in a circle of

radius 60 m what is the minimum value of 

for the car to make the turn without skidding

μs

https://dl.doubtnut.com/l/_rmGpLdKsPDnh
https://dl.doubtnut.com/l/_kcX0ihUK6kSY


Watch Video Solution

62. A car of mass 1500 kg is moving with a

speed of  on a circular path of

radius 20 m on a level raod what should be

the frictional force between the car and the

raod so that the car does not slip what should

be the value of the coefficent of friction to

attain this force

Watch Video Solution

12.5ms − 1

https://dl.doubtnut.com/l/_kcX0ihUK6kSY
https://dl.doubtnut.com/l/_8aZmQ1KUb1MH

